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Mandatory : No

Correct Marks : 2 Wrong Marks : 0



In the following statements, identify those which are related to characteristics and basic
requirements of teaching at the understanding level

a) Teaching stresses recitations of facts and information

b) Teaching becomes an activity to promote seeing of relationships among facts and
information

¢) The teacher expects that students will be able to translate and interpret the meanings in
their own words

d) The teacher 1n=sists on recall and recognition of facts presented

e) The teacher gives a large number of examples to being home the main 1deas

Select the correct answer from the following options

1. a), b) and c) only

2. ¢). d)and e) only

3. a).d) and e) only

4. b). c¢) and e) only
Options :

53622817701. 1
53622817702. 2
53622817703. 3
53622817704. 4

Question Number : 1 Question Id : 5362284544 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(a) FoTeTOT F2AT AT FI4T % FELISA T T T &
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1. (a). (b) 3T (c)

2. (). (d) 3R (o)

3. (a). (d) HIT ()

4. (b). (c) AT (o)
Options :

53622817701. 1
53622817702. 2
53622817703. 3
53622817704. 4

Question Number : 2 Question Id : 5362284545 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



There are two sets given below in which Set I offers types of learner's characteristics and
Set II gives their description. Match the two sets:

Set I Set 11
(Learner's Characteristics) (Description)

a) Academic Characteristics 1) Learner encodes and decodes relevant messages
correctly

b) Social Characteristics 11) Learner selects different themes in his/her course
when needed

¢) Emotional Characteristics 1) Learner works as a team member of the peers

d) Cognitive Characteristics 1v) Learner starts respecting the individual differences

evident in likes and dislikes of members of his class

Choose the correct answer from the following options:

1. a)-1n).b)-1v):c)-1):d)-11)
2. a)-1);b)-nu)c)-m); d) - 1v)
3. a)-1):b)-1m)e)-1v): d) -1)
4. a)-1):b)-1);c)-1u):d -iv)

Options :

53622817705. 1

53622817706. 2

53622817707. 3

53622817708. 4

Question Number : 2 Question Id : 5362284545 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(b) HTHIT=F T
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(a) - (11). (b) - (iv).(c) - (1). (d) - (111)
(a) - (1). (b)-(i1). () - (111).(d) - (1v)
(a) - (11). (b) - (111).() - (1v).(d) - (1)

(a) - (111).(b) - (1). () - (11). (d) - (V)

bt bt

v

Options :

53622817705. 1
53622817706. 2
53622817707. 3
53622817708. 4

Question Number : 3 Question Id : 5362284546 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following are the learner related factors in determining effectiveness of
teaching?

a) Task relevant competencies of learners
b) Content masteryv of the teacher

¢) Choice of teaching methods

d) Composition of the class room

d) Readiness level of student

Choose the correct answer from the options below

1. b) ande) only

2. a)and e) only

3. d) and e) only

4. b) and e) only
Options :

53622817709. 1
53622817710. 2
53622817711. 3
53622817712. 4

Question Number : 3 Question Id : 5362284546 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



forerss &1 gafaaT 1 Tuor = ¥ fOv T=fET & ¥ yftessar ga9edfr g2
FTTE?

(a) HTITEFAHT F FI-TIT FaTHATO
b) forers 1 fowg Ivg 9rETEaT

c) FareTor g=faat #1 Twew

(d) Fem Fr gEEr

(e) TrEanfiar $r Feagar
FeaET Teeal # ¥ 39T 302 ST -

i [b]}ﬂ'{ )

(e
AR (¢)
3. (d}:-l-ﬂT (e)
4. (b) R (o)

Options :

53622817709. 1
53622817710. 2
53622817711.3
53622817712. 4

Question Number : 4 Question Id : 5362284547 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



For orgamzing effective teaching-learming systems in colleges which of the following
instructional strategies may be considered appropriate?

a) Replacing lecture work by computer-aided instruction

b) Attuning teaching in terms of can do/will do analysis 1n respect of students' readiness
levels

¢) Introduction of bio-metric based attendance 1n the class
c) Diversifving teaching methods 1n terms of learners’ needs
d) Involving students. giving responsibility and recognizing the accomplishments

Choose the correct answer from the options given below

1. b).d) and e) only

2. a). b) and c) only

3. b).c)and d) only

4. ¢). d) and e) only
Options :

53622817713. 1
53622817714. 2
53622817715.3
53622817716. 4

Question Number : 4 Question Id : 5362284547 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(a) TITEATT FTH F FTYEL F ATHT ¥ [FEAIT FIA

)T F TR TR F A TR TFATE (FT )/ =am (Fag F
AR f2T0T F HTHA T

(c) F&TT H AAATEH AT FIEATT F qT3TT FL=
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L. (b).(d) AR (e)

2. (a). (b) HT ()
3. (b). (c) T (d)
4. (c). (d) 3T (o)

Options :

53622817713. 1
53622817714. 2
53622817715.3
53622817716. 4

Question Number : 5 Question Id : 5362284548 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The research form which will be an appropriate fit for improving efficacy of formative
assessment would be:

Fundamental research
Applied research
Action research

4, Ethnographic research

Bahy b

Options :

53622817717. 1
53622817718. 2
53622817719. 3
53622817720. 4



Question Number : 5 Question Id : 5362284548 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HATCAF Hediea $f &7 # guR & fov Tmafof@e # ¢ 9 @ otg =9
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Options :

53622817717. 1
53622817718. 2
53622817719.3
53622817720. 4

| ]
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Question Number : 6 Question Id : 5362284549 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In the two sets which follow, Set I gives certain terms used in research while Set II offers
their description. Match the two sets

Set I Set IT
(Terms used 1n research) sy
a) A postulate 1) It causes obtained results to vary in a particular direction

YA conataiict 1) It 18 something which can change either quantitatively or

gualitatively
: 1) It 1s the statement of the principle assumed. in the absence
c) Variable . :
of direct evidence
d) Systematic error 1v) Though not directly ocbservable. is considered to exist

Select the correct answer from the following options:

a) -1); b) - 11); ¢) - m); d) - 1v)
a)-1m): b)-1wke)-1)d -1
a)-1): b)-1):¢)-m): d) -1v)
a) - 1v); b) - m1); ¢) -1): d) - 11)

A

Options :

53622817721. 1
53622817722. 2
53622817723.3
53622817724. 4



Question Number : 6 Question Id : 5362284549 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(a) - (1). (b) - (i1). () - (1i1). (d) - (1v)
(a) - (ii1). (b) - (iv). () = (i1). (d) - (1)
(a) - (ii). (b) - (1). () - (ii1). (d) - (iv)
(a) - (iv). (b) - (i11). () = (1). (d) - (i1)

P L D

Options :

53622817721. 1
53622817722. 2
53622817723.3
53622817724. 4

Question Number : 7 Question Id : 5362284550 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A unmiversity teacher conducts research study where lecture-cum demonstration method 1s
used to assess the effect on students' level of participation in terms of the socio-economic

status (SES) of their family and its habitat. Which varable in this study will be called an
independent variable?

Lecture-cum demonstration method
Students level of participation

SES of their family

Habitat of the family

N

Options :



53622817725. 1
53622817726. 2
53622817727.3
53622817728. 4

Question Number : 7 Question Id : 5362284550 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622817725. 1
53622817726. 2
53622817727. 3
53622817728. 4

Question Number : 8 Question Id : 5362284551 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

When a researcher rejecta the 'Null Hypothesis' (Ho)in his/her study and accepts an
alternate Hypothesis (Hi) what type of error is likely?

Type I error

Type II error

Both Type I and Type II error
Meither Type I not Type II error

Lol

Options :

53622817729. 1
53622817730. 2
53622817731. 3
53622817732. 4

Question Number : 8 Question Id : 5362284551 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622817729. 1
53622817730. 2
53622817731.3
53622817732. 4

Question Number : 9 Question Id : 5362284552 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which research design, the independent varmable 1= 'selected’ rather than ‘'mampulated'?

Experimental research design
Historieal research design

Ex post-facto research design
Descriptive survey research design

L B

Options :

53622817733. 1
53622817734. 2
53622817735.3
53622817736. 4

Question Number : 9 Question Id : 5362284552 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
53622817733. 1
53622817734.2
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53622817735.3
53622817736. 4

Question Number : 10 Question Id : 5362284553 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Inappropriate application of ICT in research is an example of:

Technical lapse on the part of the researcher
Inadequate provision of ICT resources
Violation of research ethics

Absence of technieal expertise of ICT resources

e e

Options :

53622817737. 1
53622817738. 2
53622817739.3
53622817740. 4

Question Number : 10 Question Id : 5362284553 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

oITer H HTSHIET & g I &7 3818307 & 2

1. ofersar i HT ¥ FFAE gF
2. FTEHEET HETUAT FT FIACT SIS
3. oMeT AfaFar #1 Ioowd
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Options :

53622817737. 1
53622817738. 2
53622817739.3
53622817740. 4

Question Number : 11 Question Id : 5362284554 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(Given below are two statements. One 1s labelled as Assertion (A) and other 1s labelled as
Reason (R)

Assertion (A): While communicating with students. a teacher should go beyond what 1=
prescribed.

Reason (R): Non-verbal cues definitely convey what 1= intended by the teacher.

In the hght of the above two statements, choose the correct option from those given below
Both A) and R) are true. and R) is the correct explanation of A)

Both A) and R) are true but R) 1s NOT the correct explanation of A)

A) 1s true, but R) 1s false
4, A)is false. but R) 1s true

il

Options :

53622817741. 1
53622817742. 2
53622817743.3
53622817744. 4

Question Number : 11 Question Id : 5362284554 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622817741. 1
53622817742. 2
53622817743. 3
53622817744. 4

Question Number : 12 Question Id : 5362284555 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

Successful communication inside the classroom depends upon
a) Detailed and long description of the topic

b) Deseribing the theme

¢) Use of persuasive words and phrases

d) Clarity in explanations offered

e) Repetitive anecdotes

f) Unstructured delivery of message

Choose the correct option from thoze below:

1. a), b) and c) only

2. b). c) and d) only

3. c). d) and e) only

4. d).e)andf) only
Options :

53622817745. 1
53622817746. 2
53622817747.3
53622817748. 4

Question Number : 12 Question Id : 5362284555 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(d) TFdT FT TS SqTEAT H FISEAT

(c}gﬁqu&l* HTETH (TA+F3IeH)
(f) F=ger 1 7EI=d Jeraain
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1. (a). (b) 3T ()

2. (b). (e) AT (d)

3. (e). (d) HT ()

4. (d). (e) AT ()

Options :

53622817745. 1
53622817746. 2
53622817747. 3
53622817748. 4

Question Number : 13 Question Id : 5362284556 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If a teacher considers his or her students 1ll-informed, teacher's behaviour 1z described as:

Single mindedness
Having hiberal view
Pluralistic ignorance
Conventional coding

R

Options :

53622817749. 1
53622817750. 2
53622817751.3
53622817752. 4

Question Number : 13 Question Id : 5362284556 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622817749. 1
53622817750. 2
53622817751. 3
53622817752. 4

Question Number : 14 Question Id : 5362284557 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

When the classroom communication 1s cireular. the teacher-encoder will be a/an

Active decoder
Passive observer
Negative receiver
4. Restive coder

s

Options :

53622817753. 1
53622817754. 2
53622817755.3
53622817756. 4

Question Number : 14 Question Id : 5362284557 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622817753. 1
53622817754. 2
53622817755.3
53622817756. 4



Question Number : 15 Question Id : 5362284558 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Communication begins usually with

Confused 1deas
Semantic noise
Apprehension
Pictures in the mind

P B9 9 b

Options :

53622817757. 1
53622817758. 2
53622817759.3
53622817760. 4

Question Number : 15 Question Id : 5362284558 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FFIY0T HTHAR ¥ F8+ Oy YRET AT £ 7

1. aH+ T

2. HA-RwTw oI
3. TR

4. AA-ATETSF # =

Options :

53622817757. 1
53622817758. 2
53622817759. 3
53622817760. 4

Question Number : 16 Question Id : 5362284559 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
MOTION is to RUN as EMOTION is to:

FURIOUS
FEELING
HEART
ENJOY

P o o=

Options :

53622817761. 1
53622817762. 2
53622817763. 3



53622817764. 4

Question Number : 16 Question Id : 5362284559 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622817761. 1
53622817762. 2
53622817763. 3
53622817764. 4

Question Number : 17 Question Id : 5362284560 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The missing letters in the given letter series are:

BCE. CDG. DEL . FGM

EFK
EGJ

EFH
EGH

Lo b

Options :

53622817765. 1
53622817766. 2
53622817767. 3
53622817768. 4

Question Number : 17 Question Id : 5362284560 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622817765. 1
53622817766. 2
53622817767.3
53622817768. 4

Question Number : 18 Question Id : 5362284561 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
I UGCNET = 35, then CSIRNET =

42
43
44
45

e b

Options :

53622817769. 1
53622817770. 2
53622817771.3
53622817772. 4

Question Number : 18 Question Id : 5362284561 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Ife UGCNET =35. 3T CSIRNET =7

42
43
44
45

ba

=

Options :

53622817769. 1
53622817770. 2
53622817771. 3
53622817772. 4

Question Number : 19 Question Id : 5362284562 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A sum of money with compound interest becomes Rs. 400 1n 2 vears and Rs.500 1n 3 vears.
Find the sum

Rs 290
Rs 256
Rs 302
Rs 308

= oo =

Options :

53622817773. 1
53622817774. 2
53622817775. 3
53622817776. 4

Question Number : 19 Question Id : 5362284562 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FIE T THIIe <A F TT 2 T8 F 400 T9F AT 3 I & 500 9T g AT & A
IE AT FAT E 2

1. 290 F99
2. 256 T9
3. 302T9Y
4. 308 T

Options :

53622817773. 1
53622817774. 2
53622817775.3
53622817776. 4

Question Number : 20 Question Id : 5362284563 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Twenty times a positive integer 1s less than its square by 96. What 1s the integer

24
20
30
14

Ll

Options :

53622817777. 1
53622817778. 2
53622817779. 3
53622817780. 4



Question Number : 20 Question Id : 5362284563 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
UF UeATcHF UM F 20 0T 38F I ¥ 96 FH gl U F41 § 2

24
20
30
14

b

g L

Options :

53622817777. 1
53622817778. 2
53622817779. 3
53622817780. 4

Question Number : 21 Question Id : 5362284564 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

"Planets are big. Therefore, the atoms from which they are made are big". This inference
commits which kind of fallacy?

Fallacy of Division
Fallacy of Ambiguity
Fallacy of Equivocation
Ad populum

L

Options :

53622817781. 1
53622817782.2
53622817783. 3
53622817784. 4

Question Number : 21 Question Id : 5362284564 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
"TE 72 FT £ Wa ToE s § g = @A g £ 7 92 Y £ 5w degEe
A sFrR Fam ¢ 2

. BafEa o

. ZI9dF BN
HAFTIF I
4. UZ 9rqerH

[ ]

L8]

Options :



53622817781. 1
53622817782. 2
53622817783.3
53622817784. 4

Question Number : 22 Question Id : 5362284565 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

"Some teachers are not sincere" 1s an example of which category of proposition?

Universal negative
Universal affirmative
Particular affirmative
Particular negative

el B

Options :

53622817785. 1
53622817786. 2
53622817787. 3
53622817788. 4

Question Number : 22 Question Id : 5362284565 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

" 5T et Foaen fes Ad aia & o Aoft & Fharsa 1 3erevor 2

1. grEaAte Fey

. gEdtE FUT (TR
. 9y YT (@eReER)

. 9y A9y (FFERcET)
Options :

53622817785. 1

53622817786. 2

53622817787. 3
53622817788. 4

=¥ | B

I

Question Number : 23 Question Id : 5362284566 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following 1s correct about the sentence, "Some men are not married"?

The subject 18 distributed

The predicate 1s distributed

Both subject and predicate are distrmbuted
Neither subject or predicate 1s distributed

et BBy

Options :

53622817789. 1
53622817790. 2
53622817791. 3
53622817792. 4

Question Number : 23 Question Id : 5362284566 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

" FT oV Efed A8 B & SH A F Hau H AT A g Fr wdr g 2

1. 327 faafE &

Trw REfE g

. 38T A#AR Todw gt faafig €

4. 3527 HAR Uy o= faafig a8t 2

Options :

53622817789. 1
53622817790. 2
53622817791.3
53622817792. 4

I

L

Question Number : 24 Question Id : 5362284567 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following 1s not a sense-organ according to classical Indian school of logic?

Manas
Savikalpaka
Calksuh
Srotra

ot

ot

Options :

53622817793. 1
53622817794. 2
53622817795.3
53622817796. 4

Question Number : 24 Question Id : 5362284567 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

AT AMTEHIT Fh2TET TFed F HUR fAFaTai@d # § Hid 0T A5 T A6 8 7

1. 79
giaFeaF

3, =g
4. AT

| ]

Options :

53622817793. 1
53622817794. 2
53622817795.3
53622817796. 4

Question Number : 25 Question Id : 5362284568 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

"Have yvou stopped telling lies?"
This type of question commits which kind of fallacy?

Fallacy of Complex Question
Fallacy of Ambiguity
Fallacy of Equivocation

4, Fallacy of Accident

M DR

Options :

53622817797. 1
53622817798. 2
53622817799. 3
53622817800. 4

Question Number : 25 Question Id : 5362284568 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
"FIT AT S AT B GAT & 737 TRR F oA H FH 9N F W § 7

[

oo 9T W
. ZgOdw g
3. FAFISF W
4, JYSIEOT I / 3T W

Options :
53622817797. 1

| ]



53622817798. 2
53622817799. 3
53622817800. 4

Sub-Section Number : 2
Sub-Section Id : 536228181
Question Shuffling Allowed : Yes

Question Id : 5362284569 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (26 to 30)
Question Label : Comprehension

The following table gives the percentage of total students and also girl students
enrolled in five schools (A - E). The total number of students 1s 4500, while the
total number of girl students is 2000. Based on the data of table, answer the
questions that follow.

Percentage of total number of student and girl students in five schools

School % of Total Students % of Girl Students
Name Enrolled Enrolled

A 20% 15%

B 30% 35%

C 25% 12%

D 15% 25%

E 10% 13%

Sub questions

Question Number : 26 Question Id : 5362284570 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The total number of girls enrolled in schools A and B together 1s

1. 740
2. 760
3. 940
4. 1000
Options :

53622817801. 1
53622817802. 2
53622817803. 3
53622817804. 4

Question Number : 27 Question Id : 5362284571 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The total number of boys enrolled in schools C. D and E 1s

965

1250
1021
1325

e

Options :

53622817805. 1
53622817806. 2
53622817807. 3
53622817808. 4

Question Number : 28 Question Id : 5362284572 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The number of girls enrolled in B, C and D constitutes what percentage (%) of total number
of students in schools?

30%
31%
22%
4. 33%

e e

Options :

53622817809. 1
53622817810. 2
53622817811. 3
53622817812. 4

Question Number : 29 Question Id : 5362284573 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The ratio of number of girls enrolled 1n school B to that of the number of boys enrolled in D

13

1:4
4:1
1:3
821

e b

Options :

53622817813. 1
53622817814. 2
53622817815.3
53622817816. 4

Question Number : 30 Question Id : 5362284574 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

If 10% of the girls enrolled in C, change their school to E, then what will be the aggregate
number of girls then in E?

214
234
274
4. 284

b e

Options :

53622817817. 1
53622817818. 2
53622817819. 3
53622817820. 4

Question Id : 5362284569 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (26 to 30)
Question Label : Comprehension

T9T TEAT 26-30.

fFeafofaa arfosr & 9= Reareat (A-E) & AT 9°d Fo SEr AR STt
gferaar & 1§ &1 oI B FeT TEA 4500 § FAF STHT HY For TE&AT 2000 F:
JITTFT F HTHET F FTUR X FAEafai@a 9247 (26 - 30) F 3ea7 SaU |

ur= fAeareat # BT A SE FY Fo HEdr FH Iideadr

AR FoT OTAr $T (%)  ATHISA Fol I H (%)

e 1 A1

gfeeraar greeraar
A 20% 15%
B 30% 35%
C 25% 12%
D 15% 25%
E 10%0 13%

Sub questions

Question Number : 26 Question Id : 5362284570 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A 3T B 3T 9gameral H AAST S # Tl FEAT

740
760
940
1000

| B

ol

Options :

53622817801. 1
53622817802. 2
53622817803. 3
53622817804. 4

Question Number : 27 Question Id : 5362284571 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
(C). (D) HT (E) gamerat # AHFA 97 OEr T Fo HEAT £

965

1250
1021
1325

b =

e

Options :

53622817805. 1
53622817806. 2
53622817807. 3
53622817808. 4

Question Number : 28 Question Id : 5362284572 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
(B). (C) #X (D) Tac@morat & AHAIA STHIHT H HE&aT Feareral # Fol BIE
HEAr 7 ohaar 9fqaa § 2

30%
31%

32%

33%

|

e i

Options :

53622817809. 1
53622817810. 2
53622817811. 3
53622817812. 4

Question Number : 29 Question Id : 5362284573 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0
(B) [aeamera & ARG oAt #F g AR (D) FeImey #§ AEeg ol f '

F HTF E

1. 1:4
2. 4:1
¥ 13
4. 3:1
Options :

53622817813. 1
53622817814. 2
53622817815.3
53622817816. 4

Question Number : 30 Question Id : 5362284574 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tfe (C) faearaT & ATHRT 10% ST {91 Hearey aea! (E) [aeaed #
ATAFA FATE. A1 (E) Feamera & FmAifFa o 1 Fo gear Faer g o

1. 214
2. 234
3. 274
4, 284
Options :

53622817817. 1
53622817818. 2
53622817819. 3
53622817820. 4

Sub-Section Number : 3
Sub-Section Id : 536228182
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 5362284575 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

How many unique combinations of 0's and 1's can be made with 5-binary-digit code?

16
32
64
128

= oo =

Options :
53622817821. 1



53622817822. 2
53622817823.3
53622817824. 4

Question Number : 31 Question Id : 5362284575 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

5 -3 FT W 0 AT 1 F Frae [&fEree Iog7 a0 =1 69 €0

1. 16
2. 32
64
4. 128

LA T

Options :

53622817821. 1
53622817822. 2
53622817823.3
53622817824. 4

Question Number : 32 Question Id : 5362284576 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The process through which an illegitimate website pretends to be a specific legitimate
website 13 known as:

Sniffing
Spoofing
Back Doors
War Dialing

o B0 D

Options :

53622817825. 1
53622817826. 2
53622817827.3
53622817828. 4

Question Number : 32 Question Id : 5362284576 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



=g 9fFar 7 sy J9aree e 3y I99Ee g9 71 F=961 19T £ 30 Searerad
T ST agardraar g

1. =R
TR

™,

3. ¥FET
4. I AT

Options :

53622817825. 1
53622817826. 2
53622817827. 3
53622817828. 4

| B

Question Number : 33 Question Id : 5362284577 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following kevs of keyboard are called modifier keys?

a) Ctrl

b) Shift

c) End

d) Alt

Choose the correct option from those given below:
a). b) and c)

a). b) and d)

a).c)and d)
b). ¢) and d)

Lol S

Options :

53622817829. 1
53622817830. 2
53622817831.3
53622817832. 4

Question Number : 33 Question Id : 5362284577 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Fr-aE F Fy fr 7 3u=ai=E FF g7 @\ ETwm ) SFaar o
(a) g

(b) foree

)52

(d) e

T faFew giAT ¢

Options :

53622817829. 1
53622817830. 2
53622817831.3
53622817832. 4

Question Number : 34 Question Id : 5362284578 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

One aspect of E-governance deals with flow of information between the Government and
citizens. Which of the following are Government to Citizens (G2C) imtiatives?

a) e - Help

b) e - Health

¢) e - Tendering

d) e - Feedback

Choose the correct option from those given below
a) and b) only

c) and d) only

b) and d) only
b) and c) only

el

Options :

53622817833. 1
53622817834. 2
53622817835.3



53622817836. 4

Question Number : 34 Question Id : 5362284578 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

g - IFAT FT TH Tgo] TR HR A0TNHN F FET TI41 F 598 § Fa09 &
Fraa@T 7 ¥ T TIFNT § AR (37 28 # ¥3wIET £ 2
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{ ] p—
—— —
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Options :

53622817833. 1
53622817834. 2
53622817835.3
53622817836. 4

Question Number : 35 Question Id : 5362284579 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following portals include the list of 'on-line courses'?
a) ariia.gov.in

b) swayam.gov.in

c) mic.ac.ln

d) nptel.ac.in

Choose the correct option from those given below

a) and c) only

a) and d) only

b) and c¢) only
b) and d) only

b DL

Options :

53622817837. 1
53622817838. 2
53622817839. 3
53622817840. 4

Question Number : 35 Question Id : 5362284579 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Featoaa & ¥ &Fa-fFF 9ee |7 HF - oS TSIFar f g= ofEe
(a) TTLAT. IS (ariia.gov.in)
(b) TTTH.F.24 (swayan.gov.in)
(c) % . THT.35 (mic.ac.in)
(d) TAYTESS . UHT. 5 (nptel.ac.in)
wE fFeq IAT ¢

1. el (a) HIT (¢)
2. &ddl (a) HIT (d)

Faa (b) HT ()
. &Fel (b) HIT (d)

=

oW

Options :

53622817837. 1
53622817838. 2
53622817839. 3



53622817840. 4

Question Number : 36 Question Id : 5362284580 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Sustainable Development Goal - 'Life below water' aims at conserving and sustainably
using

Ground water resources

Rivers. streams, ponds and lake resources
Oceans, sea and marine resources

4. Wetland resources

e b=

Options :

53622817841. 1
53622817842. 2
53622817843.3
53622817844. 4

Question Number : 36 Question Id : 5362284580 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
wamuie Fre seT - Fd F AR ST F FEE w@eior v guoiE sy
gq mafea #

1. qrstT o wEna

FAEERR.EHE 3T FHAT YT
4. Torgen HiH (ITels) TuETYA

Options :

53622817841. 1

53622817842. 2

53622817843.3
53622817844. 4

| ]
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Question Number : 37 Question Id : 5362284581 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



From the following list, identify the Greenhouse Gases adopted 1n the Kyoto Protocol
1) Carbon dioxide

1) Methane

1) Nitrous oxide

1v) Hydroflurocarbons

v} Perflurocarbons

vi) Sulphur hexafluoride

Select the most appropriate answer from the options given below:

1. 1).11),1v) and v) only

2. 1).1v), v) and vi) only

3. 11), 1v), v) and vi) only

4. 1),11), 1), 1v), v) and vi)
Options :

53622817845. 1
53622817846. 2
53622817847. 3
53622817848. 4

Question Number : 37 Question Id : 5362284581 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



frafof@a g= & Faer 80 (Setsre) # sFafaa @ a3 #ar f w==
Fi=T

(i) FEA - STEHFAESS
(i) AIE=T
(iii) ATSETH JTFHEES

(iv) FTSET - FoRhIE

(v) T{FeIIhIad
™,

(vi) B ZFATFANISS
A= T v TFedt & ¥ gafY® 39999 3K AT

1. (1). (iD). (iv) T (v)

(i). (iv). (v) AR (vi)

(ii). (iv). (+) HT (vi)

(1), (ii). (iid). (iv). (v) 3T (i)

s e bk

Options :

53622817845. 1
53622817846. 2
53622817847. 3
53622817848. 4

Question Number : 38 Question Id : 5362284582 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Climate pledges under Paris Agreement cover what fraction of greenhouse gas emissions
reduction needed to limit the global warming below 2°C?

1. 1/3
2. 213
3. 1/2
4. 3/4

Options :
53622817849. 1
53622817850. 2



53622817851. 3
53622817852. 4

Question Number : 38 Question Id : 5362284582 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
RE §EHAIT F FAT Foaag INaod Fgad TEaasar F daw aa #+r 2'cy
A= @fFT @ F T A7 a1Fw 39 scuea & feaer e weldr orfde 7 0

L et o et
[

= L b
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Options :

53622817849. 1
53622817850. 2
53622817851.3
53622817852. 4

Question Number : 39 Question Id : 5362284583 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
The impact of noise pollution on human health 1s governed by:
a) Intensity of noise
b) Duration of noise
c) Soclo-economic status of an individual
d) Sensitivity of human ear
e) Frequency range of noise
Choose your answer from the options given below:
a). b). d) and e) only
a). b) and c) only

a). c). d) and e) only
a). b). c). d) and e)

el

Options :

53622817853. 1
53622817854. 2
53622817855. 3
53622817856. 4



Question Number : 39 Question Id : 5362284583 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AT FETELT T w3l 9euor F wHT Faw EfeaiEe e g 0

(a) w3t Fr Fr=ar

(b) =T FT FraE

(c) T Fr o+ - wfd= gfaae
(d) AT F1F FT gIgF2fear

(e) =T &1 3T =3

A e ar Reedt & ®Er 3oax AT

1. I (a). (b). (d) 3T (e
FaeT (a). (b)HT (c)

3. FFe (a). (c). (d) HT (e)
4. (a). (b). (), (d) AR (e)

Options :

53622817853. 1
53622817854. 2
53622817855.3
53622817856. 4

| ]

Question Number : 40 Question Id : 5362284584 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Polar Stratospheric Clouds are associated with which of the following environmental
1ssues?

1. Flash floods

2. Acid rain

3. Ozone layer depletion
4. Photo-chemical smog

Options :

53622817857. 1
53622817858. 2
53622817859. 3



53622817860. 4

Question Number : 40 Question Id : 5362284584 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

S FEAT ST (FREIEERT) T Feataied 7 § e swei Aee 8
TFaS ¢

1. 3TFTEAF TS

AT FEr
3. 3T e fAemor
4. FIE-TEEAF 4F - FEa

Options :

53622817857. 1
53622817858. 2
53622817859. 3
53622817860. 4

| o]

Question Number : 41 Question Id : 5362284585 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The teaching in the universities of ancient India was controlled by board of eminent
teachers. The affairs of which unmiversity were admimstered by the Board of Vikramsila
University?

Jagaddala University
WValabhi University
Nalanda University

4. QOdantapuri University

ol

Options :

53622817861. 1
53622817862. 2
53622817863. 3
53622817864. 4

Question Number : 41 Question Id : 5362284585 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T ART F [eafacarear # o o gads T F A F g on)

TFitET 7 7 Ty atcaey 71 59 Tealtor R F9F F
QTHATH T 2T :

1. Sereen TeafRearaT

. Teaat eaftege

Areier feafaearea

. A fFeafaeareT
Options :

53622817861. 1

53622817862. 2

53622817863. 3
53622817864. 4

| ]
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Question Number : 42 Question Id : 5362284586 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

For research 1n policy relevant areas. which of the following organizations 1s entrusted with
the imtiative Tmpress'?

1. IIAS

2. ICSSR
3. ICPR
4. ICHR

Options :

53622817865. 1
53622817866. 2
53622817867. 3
53622817868. 4

Question Number : 42 Question Id : 5362284586 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
HITT g 97 7 oty F v - FEaorEd § ¥ Y gess FOSFYE 95 Ji9T
IATE 2

1. 3T ¥E T TH
. T O TH UH ¥
. HTE T O HIY
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Options :
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53622817865. 1
53622817866. 2
53622817867. 3
53622817868. 4

Question Number : 43 Question Id : 5362284587 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s a residential center for free and ereative enguiry into the
fundamental themes and problems of life and thought?

Dr Zakir Hussain Memorial College Trust

Sr1 Lal Bahadur Shastri Rashtriya Sanskrt Vidyvapeeth
Indian Institute of Advanced Study

National Assessment and Accreditation Council

U

Options :

53622817869. 1
53622817870. 2
53622817871.3
53622817872. 4

Question Number : 43 Question Id : 5362284587 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
At # ¥ Sfad 3T ®aa F #oF =R 3R g7t & 375339 37
HAATcHF el & &AffHea J=EdT Fi9 @152 2 2

1. A g8 AT Fod T

2. 4 ST FEIgT OTEN U HERA fagards
3. 33 sfieeyge 3TF Usa-&s &=

4. FAFT FUTHT TUS THiscod F3raaT

Options :

53622817869. 1
53622817870. 2
53622817871.3
53622817872. 4

Question Number : 44 Question Id : 5362284588 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Capturing the imagination and imtiative of the student 1s of crucial importance 1n

Case method of teaching
Concept Mapping

Peer instruction
Quizzes

e

Options :

53622817873. 1
53622817874. 2
53622817875.3
53622817876. 4

Question Number : 44 Question Id : 5362284588 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Rreardt Fr Foaar HT TR 97 F aET FU A F Ages FeAoiEa 7 T
FEE &

1. foreror fr =feer f2fa
Fuon-gia==or
HAFETT Hgee=

4. FB==
Options :
53622817873. 1
53622817874. 2

53622817875.3
53622817876. 4

[ ]
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Question Number : 45 Question Id : 5362284589 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A vital role in human resource development of a country centered on skilled manpower,
productivity and the quality of life of its people 1s focused on which of the following
domains?

Professional education
Formal education
Lifelong education
Technical education

P Lo b

Options :

53622817877. 1
53622817878. 2
53622817879. 3



53622817880. 4

Question Number : 45 Question Id : 5362284589 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
T Zor 1 Fore FFATE. IFEFA HR A6 F ST F A0EA W FET A
T fewm A AR s s S ay ow aw feor s &

1. g foref
. HrqEies e
. SHEaqdes e
4. FFATRr TorET

Options :

53622817877. 1
53622817878. 2
53622817879. 3
53622817880. 4

| ]
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Sub-Section Number : 4
Sub-Section Id : 536228183
Question Shuffling Allowed : Yes

Question Id : 5362284590 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (46 to 50)

Question Label : Comprehension

Read the passage given below carefully and answer questions that follow:.

The representative dimension of the new liberal political orders designed to protect
individual rights. appeared as the best mechanism for actualizing popular rule or
soverelgnty - indeed democracy. As a result. it 1s more beneficial to assess the meaning and
value of 'rights' as historical and political practices. rather than conceptual forms
(especially as counterparts to 'virtue'). In this respect. the discourse of rghts reflected a
new official mode of combining ethics and power for political conduct. But the formally
equal treatment of citizens belied a relatively arbitrary element. for the involvement of the
citizenry in shaping the conduct of their representatives was left to elite influenced election
procedures., guahfications and veoluntary participation. Still. representation became the
mythical means of transposing the authorzing power of the people to the new authorities in
government. After all. representatives had more time and money to perfect their virtue and
skill 1n conducting their work and were not supposed to be corrupted by the power that
attended their offices. Thev were supposed to be better guardians and agents of public
virtue than ordinary citizens as representation became institutionalized in the new states.
The state wielded power over the people. diversifving rather than restricting the problems
of demagoguery 1n ancient demoeracy that modern republics were supposed to correct

Sub questions



Question Number : 46 Question Id : 5362284591 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The aim of liberal democracy 1s to

1. Provide a mechamsm to ignore popular voice
2. Safeguard individual rights
3. Understand the political order
4. Defocus representativeness
Options :

53622817881. 1
53622817882. 2
53622817883. 3
53622817884. 4

Question Number : 47 Question Id : 5362284592 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What will be the more beneficial assessment of democracy?

1. Considering rights as a political practice

2. Avoiding historical meanings of the concept

3. Emphasizing on virtues

4. Examining the conceptual forms of democracy
Options :

53622817885. 1
53622817886. 2
53622817887. 3
53622817888. 4

Question Number : 48 Question Id : 5362284593 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What does the discourse of rights focus on?

1. Election procedures

2. Arbitrary freedom

3. Reasonable political conduct

4. New priests of power
Options :

53622817889. 1
53622817890. 2
53622817891. 3
53622817892. 4

Question Number : 49 Question Id : 5362284594 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What was expected of public representatives?

1. Use power for personal gains

2. Behave like ordinary citizens

3. Become skilled in power politics

4, Safeguard representation of virtue
Options :

53622817893. 1
53622817894. 2
53622817895.3
53622817896. 4

Question Number : 50 Question Id : 5362284595 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
According to the author of the passage, the modern republics should

1. Exercise power over people
2. Institutionalize power and corruption
3. Free themselves from the defects of ancient democracy
4. Imitate the institutions of new states
Options :

53622817897. 1
53622817898. 2
53622817899. 3
53622817900. 4

Question Id : 5362284590 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 5362284591 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622817881. 1
53622817882. 2
53622817883.3
53622817884. 4

Question Number : 47 Question Id : 5362284592 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

53622817885. 1
53622817886. 2
53622817887. 3
53622817888. 4

Question Number : 48 Question Id : 5362284593 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
R W ey P W ST & 0

1. forares gfeamst o7
A HATA Faa34T 97

3. TREAT TTlas =0T 9T
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Options :

53622817889. 1
53622817890. 2
53622817891. 3
53622817892. 4

| ]

Question Number : 49 Question Id : 5362284594 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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53622817893. 1
53622817894. 2
53622817895.3
53622817896. 4

Question Number : 50 Question Id : 5362284595 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HA=OE F olE@F F FFAN FYEF TSI F
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Options :

53622817897. 1
53622817898. 2
53622817899. 3
53622817900. 4

PART II Geography
Section Id : 53622862
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 536228184
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 5362284596 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following groups of landforms 1s produced by erosion?
(1) Playa. Pinnacles. Pot Holes
(2) Arate, Kame. Levees

(3) Dramhn, Fijord, Wave built Platform
(4) Drip stones. Sinkholes, U-Shaped Valley

Options :



53622817901. 1
53622817902. 2
53622817903. 3
53622817904. 4

Question Number : 51 Question Id : 5362284596 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

freAferfiaa fr o9z it wue wfa = fein sovea & e 2 27

(1) eI, g, Ser e

(2) I, 4, A

(4) TSwee, T 19, 93 5 =9
Options :

53622817901. 1
53622817902. 2
53622817903. 3
53622817904. 4

Question Number : 52 Question Id : 5362284597 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following earthquake waves are more destructive at the epicenter?

(1) S — Waves (Z2) P—Waves
(3) R — Waves (4) L—Waves
Options :

53622817905. 1
53622817906. 2
53622817907. 3
53622817908. 4

Question Number : 52 Question Id : 5362284597 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1) uH—mm (2) T
(3) T (4) T
Options :

53622817905. 1
53622817906. 2
53622817907. 3
53622817908. 4



Question Number : 53 Question Id : 5362284598 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Ria 1s an example of :

(1) Submerged upland shore (2) Emerged upland shore
{(3) Neutral Shore (4) Compound Shore
Options :

53622817909. 1
53622817910. 2
53622817911. 3
53622817912. 4

Question Number : 53 Question Id : 5362284598 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

r

o
(1) e s yfm = (2) Fifsaa == g a2
(8)  TEAHeE 92 (4) ¥IF

Options :

53622817909. 1
53622817910. 2
53622817911.3
53622817912. 4

Question Number : 54 Question Id : 5362284599 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The rigid waves surrounding the Geosynclines were called by kober as

(1) Eratogen {2) Orogen
(3) Primarumph (4) Endrumph
Options :

53622817913. 1
53622817914. 2
53622817915.3
53622817916. 4

Question Number : 54 Question Id : 5362284599 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Y- F = AW 20 Zeg=me = w1 HeietEy T -

i

(1) A (2) AT
(3)  UEEEE (4 T
Options :

53622817913. 1
53622817914. 2
53622817915. 3
53622817916. 4

Question Number : 55 Question Id : 5362284600 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Sand dunes formed as long elongated ridges oriented at right angles to the wind direction are
known as :

(1) Star dunes (Z2) DBarchans
(3) Transverse dunes (4) Seifs
Options :

53622817917. 1
53622817918. 2
53622817919. 3
53622817920. 4

Question Number : 55 Question Id : 5362284600 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FAT =1 291 =6 FHHI0T =1 W 3 Aiad 09 6 =9 § g @ e 1 e 5w

(3)  #ATFY ITH (4) g
Options :

53622817917. 1
53622817918. 2
53622817919. 3
53622817920. 4

Question Number : 56 Question Id : 5362284601 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following types of landforms differs from the other on the basis of its mode of
formation?

(1) Rapids (2) Escarpments
(3) Questar (4) Dripstones
Options :



53622817921. 1
53622817922. 2
53622817923.3
53622817924. 4

Question Number : 56 Question Id : 5362284601 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fretfetiaa & & FiH-H g-smpts ot #1 ff7 & smaw o g0 7 fa= 27

Ve

(1) 9sE (2) TERTTHZ
(3) FEEE (4) fs9e=rg
Options :

53622817921. 1
53622817922. 2
53622817923. 3
53622817924. 4

Question Number : 57 Question Id : 5362284602 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following elevations upto that Kopper's Af type of climate region extends
from the mean sea level?

(1) 1000 m (2) 1500 m
(3) 2000 m (4y 2500 m
Options :

53622817925. 1
53622817926. 2
53622817927.3
53622817928. 4

Question Number : 57 Question Id : 5362284602 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

foreaferfiga © & fopm 3399 % HT08 (Af) YR F Ferary & &1 faer gor gyd] s @ 21 27

(1) 1000 =7, (2) 1500 Ht.
() 2000 i, (4) 2500 .
Options :

53622817925. 1
53622817926. 2
53622817927. 3
53622817928. 4



Question Number : 58 Question Id : 5362284603 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following percentage of solar radiation reflected back and scattered to space?

(1) 58% 2y 12%
(3) 30% (4 20%
Options :

53622817929. 1
53622817930. 2
53622817931.3
53622817932. 4

Question Number : 58 Question Id : 5362284603 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

o fate = fsfafas § o feaa ofaera amg wataa 26 & 30 =i o fmas = 27

(1) 58% (2) 12%
(3) 30% 4y 20%
Options :

53622817929. 1
53622817930. 2
53622817931. 3
53622817932. 4

Question Number : 59 Question Id : 5362284604 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the correct Relative Humidity (%) of an air mass with satuaration mixing ratio at
25°C 1s 20 grams and H:0 vapour content 1s 5 grams

(1) 15% (2)y 30%
(3) 25% (4y 50%
Options :

53622817933. 1
53622817934. 2
53622817935. 3
53622817936. 4

Question Number : 59 Question Id : 5362284604 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



7z FFdl a9 geamm #1 25° Fhws W oaTEy Hyer e 20 W, 2 i HoO 9199 5 Wi A wEl Arise
HATEAT (%) = =iad F

(1) 15% (2) 30%
(3) 256% {(4) 50%
Options :

53622817933. 1
53622817934.2
53622817935.3
53622817936. 4

Question Number : 60 Question Id : 5362284605 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following latitudes has 'no surplus’ and ‘no deficit’ heat balance in Northern
Hemisphere?

(1) 18° (2) 23%°
(3) 38° (4) 66%:°
Options :

53622817937. 1
53622817938. 2
53622817939. 3
53622817940. 4

Question Number : 60 Question Id : 5362284605 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TFreafefga s1eme 8 $9 § U 9 I0a ey § I 992 § 7 SO o711 T 5 FH B e

(1) 18°N (2) 23%°N
(3) 38°N (4) 66%:=°"N
Options :

53622817937. 1
53622817938. 2
53622817939. 3
53622817940. 4

Question Number : 61 Question Id : 5362284606 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which one of the following surface area covered by a solar beam of 1 m width at noon with
vertical sunshine?

(1) 1 m width (2) 4 m width
(3) 45 m width (4) 90 m width
Options :

53622817941. 1
53622817942. 2
53622817943.3
53622817944. 4

Question Number : 61 Question Id : 5362284606 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frfcfan Has & ° i 81 U IS g9 % WY a9 § L W, =03 F O g srearied we A

() 1w =3 (2) 4. ==
(3) 45 . == (4) 90 . =tsE
Options :

53622817941. 1
53622817942. 2
53622817943. 3
53622817944. 4

Question Number : 62 Question Id : 5362284607 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who 1s recognised as the founder of Scientific Marine Meteorology?

(1) L.C. King (2) M.F. Maury
(3) W.AL Dawvis (4) F.P. Shepard
Options :

53622817945. 1
53622817946. 2
53622817947. 3
53622817948. 4

Question Number : 62 Question Id : 5362284607 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

i U TSI BHE AEE-TEE T IA9EE 6w § S 6w
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(1) T, =1, 1 (2) A T W
(3) 3o TH. =W (4) U A TE

Options :



53622817945. 1
53622817946. 2
53622817947. 3
53622817948. 4

Question Number : 63 Question Id : 5362284608 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following recyele periods 1s correct for oxygen?

(1) 100 years (2 2000 vears
(3) 1000 years (4) 500 years
Options :

53622817949. 1
53622817950. 2
53622817951. 3
53622817952. 4

Question Number : 63 Question Id : 5362284608 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Ffafad 9 3 F9 5 TF AT % w0 Fai F o @ R

(1) 1009 (2) 2000 =d
(3)  1000=9 (4) 5009
Options :

53622817949. 1
53622817950. 2
53622817951. 3
53622817952. 4

Question Number : 64 Question Id : 5362284609 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following components does NOT match with the Darwinian theoryv of origin

of species?

(1) Natural hazard (2) Natural selection

(3) Adoptation (4) Survival of the fittest
Options :

53622817953. 1
53622817954. 2
53622817955.3
53622817956. 4



Question Number : 64 Question Id : 5362284609 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FeAfeTiiad Tkl | i | TH S F g SEl S Sedied o @ g T8 B 7

(1) Tl =@ (2) TTERaE T
@ g (4) T A1 T A
Options :

53622817953. 1
53622817954. 2
53622817955.3
53622817956. 4

Question Number : 65 Question Id : 5362284610 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Identify the person who defined pollution as

“The presence at large of substances. or energy patterns which have been involuntarily
produced. have outhved their purpose. have escaped by accident. or have unforeseen effects,
in quantities which harm his (man’s) health or do offened him”.

(1) Lord Kenett (2) D.M. Dixon
(3) R.F. Dasmann (4) A Goudie
Options :

53622817957. 1
53622817958. 2
53622817959. 3
53622817960. 4

Question Number : 65 Question Id : 5362284610 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :



53622817957. 1
53622817958. 2
53622817959. 3
53622817960. 4

Question Number : 66 Question Id : 5362284611 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following processes 1s related to absorption of inorganic salts and water by
plant roots?

(1) Oxadation (2) Osmosis
(3) Hydration (4) Hydrolysis
Options :

53622817961. 1
53622817962. 2
53622817963. 3
53622817964. 4

Question Number : 66 Question Id : 5362284611 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

freAferiiga afsansti § 51 91 U 91E] S SS1 90 SRl g ST O F 9T HEied 87

(1)  rri (2)  TETE (TEETE)
(3)  FwEEA (4) F-#ATTEA
Options :

53622817961. 1
53622817962. 2
53622817963. 3
53622817964. 4

Question Number : 67 Question Id : 5362284612 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The slope replacement was propounded by

(1) A, Strahler (2) A. Penck
(3) W. M. Davis (4) H. Wood
Options :

53622817965. 1
53622817966. 2
53622817967. 3
53622817968. 4

Question Number : 67 Question Id : 5362284612 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0
T TTTEATI T TiaTed AT 9

1 u oA @ w3
(3) &g, A =fm A 4 T334
Options :

53622817965. 1
53622817966. 2
53622817967. 3
53622817968. 4

Question Number : 68 Question Id : 5362284613 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘Household register’ in Japan was known by the name

(1) Takeshi (2) Yumitava
(3) Koselk {(4) Dketana
Options :

53622817969. 1
53622817970. 2
53622817971. 3
53622817972. 4

Question Number : 68 Question Id : 5362284613 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

9 | iEn et B T " e S e

T r

1 g (2) FfHamE
(3) g (4)  TEa
Options :

53622817969. 1
53622817970. 2
53622817971.3
53622817972. 4

Question Number : 69 Question Id : 5362284614 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Concept of ‘Primate City’ was given by Jefferson in

(1) 1929 (2) 1938
(3) 1939 (4) 1940
Options :

53622817973. 1
53622817974. 2



53622817975.3
53622817976. 4

Question Number : 69 Question Id : 5362284614 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TEEA G WIEHZ A wh Heer e a1 e di 7

(1) 1929 (2) 1938
(3) 1939 (4) 1940
Options :

53622817973. 1
53622817974. 2
53622817975.3
53622817976. 4

Question Number : 70 Question Id : 5362284615 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“Hyper markets” are shopping centres located

(1) Near the CBD (2) Near rail — road junction
(3) Out of town (4) Near hospitals
Options :

53622817977. 1
53622817978. 2
53622817979. 3
53622817980. 4

Question Number : 70 Question Id : 5362284615 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1) 11 51 = °Hy (2) ToE-FSF FHHE % THM
(3) W F W (4) AT wHY
Options :

53622817977. 1
53622817978. 2
53622817979. 3
53622817980. 4

Question Number : 71 Question Id : 5362284616 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



“Dry point” settlements are common in

(1) Deltas (2) Mountain regions
(3) Deserts (4) Rain shadow areas
Options :

53622817981. 1
53622817982. 2
53622817983. 3
53622817984. 4

Question Number : 71 Question Id : 5362284616 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
are e wfeqal fFafdfea § 59 =9 8 faead 2

(e (2) RS &
(3) T (4) dfosmE &
Options :

53622817981. 1
53622817982. 2
53622817983. 3
53622817984. 4

Question Number : 72 Question Id : 5362284617 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following 1s not a non-renewable resources?

() Fish (2) Plants
(3) Fossil fuels (4) Solar energy
Options :

53622817985. 1
53622817986. 2
53622817987. 3
53622817988. 4

Question Number : 72 Question Id : 5362284617 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
fAfetga § 5 FiA-T1 T-T= e = A5 B 7

(1) "= (2) T
(3)  f=wm A (4) =R A
Options :

53622817985. 1
53622817986. 2
53622817987. 3
53622817988. 4



Question Number : 73 Question Id : 5362284618 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘Zone of assimilation’ and “Zone of discard” these terms are related to the delimitation of

(1) Shape of a city (2) Function of a city
(3) CBD of a city (4) Migration trends of a city
Options :

53622817989. 1
53622817990. 2
53622817991. 3
53622817992. 4

Question Number : 73 Question Id : 5362284618 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
‘R g W feemE am 3 ve et & ofeme 9 getE

(1) IET T TN (2) ITFT = UHHE
(3)  =TEL T HI A B (4) TIET = TEE U=
Options :

53622817989. 1
53622817990. 2
53622817991. 3
53622817992. 4

Question Number : 74 Question Id : 5362284619 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

List I (Tvpes of precipitation) List IT (Approximate size)
(A) Mist Iy 2-5mm
{(B) Snow (II) 0.5-b mm
{(C) Graupel (IIT) 0.005—0.05 mm
(D) Sleet (IV) 1 mm— 20 mm

Choose the correct answer from the options given below:
(1) (A)-(I). (B)-(III). (C)-(II). (D)-(IV)

(2) (A)-(III). (B)-(IV), (C)-(II). (D)-(I)

(3) (A)-(IV), (B)-(IT). (C)-(III). (D)-(I)

(4 (A)-(IID). (B)-(IV), (C)-(I). (D)-(II)

Options :

53622817993. 1

53622817994. 2

53622817995. 3

53622817996. 4

Question Number : 74 Question Id : 5362284619 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0
a1 T = 115 gefem it |

Tt I (F997 = TFN) Tt 11 (ST ST
(A) FEME (O 25 Tt
B) FF a0 0.5-5 Tt
(C) = A= (II1) 0.005—0.05 T
(D) Tesi =i avy 1 fadi— 20 5=

S T2v T el | 9 mE I # = i
(1) (A)-(D. (B)-(IID, (C)-(II). (D)-(IV)
{2) (A)-(ILT). (B)-(IV), (C)-(1I). (D)-(I)
(3) (A)-(IV), (B)-(II). (C)-(IID). (D)-(I)
(4) (A)-(IID). (B)-(IV), (C)-(D). (D)-(1I)

Options :

53622817993. 1

53622817994. 2

53622817995. 3

53622817996. 4

Question Number : 75 Question Id : 5362284620 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following methods commonly used to estimate numerically the change
taking place in one sector or industry bringing about changes 1n other sectors of the economy?

(A) Cluster analysis (B) Econometrics

(C) Input — Output analysis (D) Principal Component analysis

Choose the most appropriate answer from the options given below :

(1) (A only (2) (B)only
(3) (C) only (4) (D) only
Options :

53622817997. 1
53622817998. 2
53622817999. 3
53622818000. 4

Question Number : 75 Question Id : 5362284620 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fr=ferfias fafeen 5§ =19 = &t =1 T W U A9 A1 S9N ° w5 A TR O S

(A) = Tavem (B) =
(C)  sE-Ta favemm (D) waH T2 vy

= 23 ™ T O § maEraE TE I gee

()  Fa= (A) (2) =4 (B)
(3) === (0) (4) == (D)
Options :

53622817997. 1
53622817998. 2
53622817999. 3
53622818000. 4

Question Number : 76 Question Id : 5362284621 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following scholars advocated a policy of deliberate inbalanced development?

(A) G. Myrdal (B) A.O. Hirchman
(C) A G Frank (D) ER. Nurke

Choose the correct answer from the options given below :

(1) (A only (2) (B)only
(3) (C) only (4) (D) only
Options :

53622818001. 1
53622818002. 2
53622818003. 3
53622818004. 4

Question Number : 76 Question Id : 5362284621 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



freferfian # | form fagm 3 drggyn swafeq fasemm &1 Aifq =1 sgedem fFane

Ay . foetE (B) U, a7t e

(C) U . (D) #T. 9%

i feg m faeedt O | Od I g -

(1) & (A) (2)  F=¥ (B)

(3)  wEa (O) (4) F=e (D)
Options :

53622818001. 1
53622818002. 2
53622818003. 3
53622818004. 4

Question Number : 77 Question Id : 5362284622 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who enunicated the four stages in the evolution of space economy?
(A) John Fried mann

(B) Karl Marx

(C) Ronald F. Abler

(D) August Losch

Choose the correct answer from the options given below :

(1)  {(A)only

(2) (B) only

(3)  (C)only

(4)  (D)only
Options :

53622818005. 1
53622818006. 2
53622818007. 3
53622818008. 4

Question Number : 77 Question Id : 5362284622 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(A) = FEsEA
(B) e AEA
(C) THAFE TF. Tel

(D) == &

(1)  Fad (A
(2)  =ae (B)
(3)  Fa= (C)
(4) === (D)

Options :

53622818005. 1
53622818006. 2
53622818007. 3
53622818008. 4

Question Number : 78 Question Id : 5362284623 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which one of the following connectivity matrices is correct to show the given network of six
nodes?

1 2 3 4 5 6 1. 2 B 4 B 6
1/1(1|1|0|0)|0 110(1|1(0|0 |0
2/1(1(1|1(0]0 2111011 (0 |0

(1) 3/1]1|0|0|0]|0 2y G EE (O [
4 0|1|1(1(0(0D 4(0(1|1|0|0|0
5|1|0|1 0110 5|10|0|1|0|0|0
6 10|1(0|0]|1 6(0(0|1|0|00

1. 2 3 4 b 6 1 2 3 4 b5 6
i GBI S Tl B I A I = i T s
21k |2 (00 2130FE [2E [E]D

(3) 3 |33 |32 ||k 4 3(1(1]1]1 |11
40|11 (1|0]|0 4(0(1(1|1|00
50|11 (0(1(0 00 0 T S S
6 001|000 6(1(0|10|0|1

Options :

53622818009. 1
53622818010. 2
53622818011. 3
53622818012. 4

Question Number : 78 Question Id : 5362284623 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fe=tlerian Sam=rrar Bf2om o o =% o1 #4758 3 Jse + B qzak w fTmE F fow w8 2 e

G
1 2 3 4 5 6 i 2 & 4 5 6
111111 |0(0]0 (0210|800
212111 (0|0 Z2I¥|O[E] 28O
(1) 3111|1000 ]|0 2 31|10 (1]|1 |1
410|11(1]1(0{0 410(1(1(10]0 |0
51101 |0(1)0 510(0|1(0]|0 |0
6|1(0|1|0|0 |1 6| 0|0|1|0|0 |0
1 2 3 £#. 8 6 1 2 & 4. 8B 6
1/1]1]1(0([1]0 1/1(1]1(0]0 |0
211(1|1(1(0]|0 2 |3 |% |E[X|1|0O
(3) “HENERENERENE £ 3 B P s W i I |
4 10(1(1|]1|0]0 4011|100
5 101 |2(0(1]0 5|11 (0]12(0]|1]|0
6  0(0|1|0]|0]|0 6 1 |0(1|10(0 |1
Options :
53622818009. 1
53622818010. 2
53622818011. 3
53622818012. 4

Question Number : 79 Question Id : 5362284624 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s not true about International trade in post — globalization phase :

(1) It has enhanced the spatial integration of world economy.

(2) Role of digital technologies in facilitation of trade has become Increasing important.
(3) Regional comparative advantage 1s on decline.
(4) The ability of a country to compete 1n international trade and economy 1s highly

dependent on the transport system as well as trade facilitation frame work.

Options :

53622818013. 1
53622818014. 2
53622818015. 3
53622818016. 4



Question Number : 79 Question Id : 5362284624 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Featad] afvas Fre o AarrE s % faew o = oad TE 2

(1) 397 fava srdemaen 6t zofas wampem =1 TeaEa foem 2
(2) = % meefm § fefaea a1 afme sl Teepl 5 2|
(3) & qeFTHS @Y 9o 6l AT & |

(4y T 2w & =Y smn g sdsrgren 4 ufaudt w1 F g ofmes el oAy my
SN & B0 EO0E] T 3Ty T &0 2 |

Options :

53622818013. 1
53622818014. 2
53622818015. 3
53622818016. 4

Question Number : 80 Question Id : 5362284625 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

There are three well — defined phases 1n International trade. The second phase, which 1s

market with mobility of factors of production, remained in focus during

(1) 1950s and 1960s
(2) 1960s and 1970s
(3) 1970s — 1990=

(4) 1990s onward

Options :

53622818017. 1
53622818018. 2
53622818019. 3
53622818020. 4

Question Number : 80 Question Id : 5362284625 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



FArIgE TR # fA o o1 @R 8| gE0 2R A eed & wEa 61 fasiie &1 g9 w0 fFE 9 F

(1) 19508 37 1960s
(2) 1960 31 1970s
(3) 19708 37 1990s
(4)  1990s § 3141 7%

Options :

53622818017. 1
53622818018. 2
53622818019. 3
53622818020. 4

Question Number : 81 Question Id : 5362284626 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following codes correctly show the optimal location of profitability in
different spatial cost / revenue situations in diagram below

:%
%
'
=
~
% ;
A B_CD
Distance
(D A (2) B
(3 C 4 D

Options :

53622818021. 1
53622818022. 2
53622818023. 3
53622818024. 4

Question Number : 81 Question Id : 5362284626 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Fe=fetfiad 4 9 Fa %2 4= T sma 9 fGfes el o faee fEafe 9 s fiosean
12201 1 e 1 s 1

?j_

E

£

(I A (2 B
(3) C 4 D
Options :

53622818021. 1
53622818022. 2
53622818023. 3
53622818024. 4

Question Number : 82 Question Id : 5362284627 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Rimland theorv was presented by M.J. Spykman in

(1) 1941 (2) 1942
{(3) 1943 (4) 1944
Options :

53622818025. 1
53622818026. 2
53622818027. 3
53622818028. 4

Question Number : 82 Question Id : 5362284627 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

foets fogm =1 T8, 3. TIEHHS 2T e WA T T e

(1) 10411 (2) 19424
(3) 1943 9 (4) 19447
Options :

53622818025. 1



53622818026. 2
53622818027. 3
53622818028. 4

Question Number : 83 Question Id : 5362284628 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of these 1s not a type of federal state?

(1) Compromised {(Z2) Imposed
(3) Composite (4) Centralised
Options :

53622818029. 1
53622818030. 2
53622818031.3
53622818032. 4

Question Number : 83 Question Id : 5362284628 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1) =3 °wfl (FETmEss) (2) AT (3FaTss)
(3) AT A (a2 (4) --hrgf'irjfw-l (TzeE=s)
Options :

53622818029. 1
53622818030. 2
53622818031. 3
53622818032. 4

Question Number : 84 Question Id : 5362284629 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Study 1n =social and health 1ssues., domestic politics and security 1ssues and International
diplomacy 1s new trend in political Geography. It 1s termed as

(1) Neo — Politics (2) Meta - Geoplolitics
(3) Mega — Politics (4) Developmental - Geopolitics
Options :

53622818033. 1
53622818034. 2
53622818035.3
53622818036. 4

Question Number : 84 Question Id : 5362284629 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

TS IR T wedi A, 9 Ui AW O 90 99 FaeE FEAid TeHiaE e § U

@ AT @) ey TR (S Fmir)
(83)  FEA-TEAI (Am-Aitte) (4) frwmEF-g-TiE
Options :

53622818033. 1
53622818034. 2
53622818035. 3
53622818036. 4

Question Number : 85 Question Id : 5362284630 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

International boundary between India and Pakistan was demarcated after the partition.
Which type of boundary 1s this

(1) Cultural (2) Complex
(3) Antecedent (4) Conseguent
Options :

53622818037. 1
53622818038. 2
53622818039. 3
53622818040. 4

Question Number : 85 Question Id : 5362284630 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
WA 37 TR & 679 SandE g & i @ean & 99Em fE vy o | 98 g e v 8

(1) s (2) e
(3) Al (4) A
Options :

53622818037. 1
53622818038. 2
53622818039. 3
53622818040. 4

Question Number : 86 Question Id : 5362284631 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Who among the following geographers laid down the foundation of dichotomy of General
versus special Geography?

(1) Immanuel Kant (2) Sebastian Munster
(3) Peter Apian (4) Bernhard Vareniun
Options :

53622818041. 1
53622818042. 2
53622818043. 3
53622818044. 4

Question Number : 86 Question Id : 5362284631 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Frfarfiaa # & fm syt 3 T 98w fae spie & fare A v i smawfen v ?

(1) T F2 (2) FEfE=T g
(3) i U (4) =HETS FEE
Options :

53622818041. 1
53622818042. 2
53622818043. 3
53622818044. 4

Question Number : 87 Question Id : 5362284632 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following 1s the correct sequence of Contributors in the development of
Greek Geography?
(1) Anaxiamander, Hipparchus, Herodotun, Eratosthenes
(2 Eratosthenes, Herodotun, Hipparchus, Anaximander
(3) Anaximander, Herodotus, Eratosthenes, Hipparchus
(4) Hipparchus. Anaximander, Herodotun. Eratosthenes
Options :
53622818045. 1
53622818046. 2
53622818047. 3
53622818048. 4

Question Number : 87 Question Id : 5362284632 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



feferfiga ° %9 o o 0 HTI‘I——I_\-: % [9F® 0 arEAFaleT FT Oe FH 27

(4)  Teogmees, vHHEET, FISEE, SRS

Options :

53622818045. 1
53622818046. 2
53622818047. 3
53622818048. 4

Question Number : 88 Question Id : 5362284633 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
An introduction to the ‘Application of Geography to History' and ‘The Geographical
Distribution of Mankind’ are the work of :
(1) Card Ritter (2) Friedrich Ratzel
(3) Vidal de la Blache (4) Alfred Hettner
Options :
53622818049. 1
53622818050. 2
53622818051. 3
53622818052. 4

Question Number : 88 Question Id : 5362284633 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
‘T TS 7 7 A A S 7 e et 3 i Teeieu A e’ R we

=l

(1) = (2) Witk 2=
(3) ATSZe ST AT (4) #THS 72

Options :

53622818049. 1
53622818050. 2
53622818051. 3
53622818052. 4

Question Number : 89 Question Id : 5362284634 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are true for vector data models in GIS.

(A) It 1s a simple data model and has low catographic output quality

(B) It 15 a compact data structure and has high cartographic output quality
(C) It 1s characterized by case of data processing

() It 1s cheap data collection process as it was less expensive technology

Choose the appropirate answer from the options given below :

(1)  (A)only (2) (B)only
(3)  (C)only (4) (D) only
Options :

53622818053. 1
53622818054. 2
53622818055. 3
53622818056. 4

Question Number : 89 Question Id : 5362284634 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
HAETE § 992 32 0ISeH F [ow =fetEa 9 @ 9 W e 196 27
(A) TR TF WENY T2 Higd 2 AR sEl e wRmmEd (At i (srmseyg) e 2
B)  FF UF gEag (FEiF2) T2 HeEA 7 Tl 3= gEEy e e
(C) 7% T =21 TE=F0 i faemars 7

(1) Fa= @A) (2) =4 (B)
(3) FA= (0) (4) =7 (D)
Options :

53622818053. 1
53622818054. 2
53622818055. 3
53622818056. 4

Question Number : 90 Question Id : 5362284635 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Who according to Hartshorne had set the direction of Geographic thought for the future?

(1) Huntington E.W. (2) Vaidel de 1a Blacho
(3) E Semple (4) Van Richthofen
Options :

53622818057. 1
53622818058. 2
53622818059. 3
53622818060. 4



Question Number : 90 Question Id : 5362284635 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
FAfeTe % Fgan wias % fau vnnfas faer & fem-fn =t fma faffea feay

(1) FATEA 3. B (2) dEE @ g s
3 fumE @) =F frags
Options :

53622818057. 1
53622818058. 2
53622818059. 3
53622818060. 4

Question Number : 91 Question Id : 5362284636 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The Arab scholar who made corrections to Ptolemy's book was

(1) Ibn — Batuta (2) Ibn — EKhaldun
(3) Al — Masuda (4 Al-Idm=1
Options :

53622818061. 1
53622818062. 2
53622818063. 3
53622818064. 4

Question Number : 91 Question Id : 5362284636 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

a7 37 fagH FE 91 (56 o1 H TE § HaR e Tt

(1) =g @) T-mE
(3)  wA=-TEE (4) “A=-TaE
Options :

53622818061. 1
53622818062. 2
53622818063. 3
53622818064. 4

Question Number : 92 Question Id : 5362284637 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Who among the following defined Geography as a Chorological Science?

(1) P.E. James (2) Hettner.dJ
(3 Richthofen (4) Darwin.C
Options :

53622818065. 1
53622818066. 2
53622818067. 3
53622818068. 4

Question Number : 92 Question Id : 5362284637 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
fraferfian 3 & formy spier 1 -y Gl o & = § smenfE 7

(1) .5 == (2) =z A
(3  TEur (4) =ifER = s
Options :

53622818065. 1
53622818066. 2
53622818067. 3
53622818068. 4

Question Number : 93 Question Id : 5362284638 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s not associated with political Geography

(A) I. Bowman (B R. Johnston

(C) F. Ratzel (D) H.J. Mackinder

Choose the correct answer from the options given below :

(1) (A) only (2) (A) and (B) only

(3) (B) only (4) (B) and (C) only
Options :

53622818069. 1
53622818070. 2
53622818071. 3
53622818072. 4

Question Number : 93 Question Id : 5362284638 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



o

F=fefEa 9 & FiF TAaE P W Baiad G5 2 ¢

(A)  #E. =T (B) #W. S

(C) wF. f=z9= (D) T=. =, HfRE=

= 53 = faweT 5 5 w9 T 9

1)  F= (A) (2) Fa (A) = (B)

(3) === (B) (4) =aa (B) 31 (C)
Options :

53622818069. 1
53622818070. 2
53622818071. 3
53622818072. 4

Question Number : 94 Question Id : 5362284639 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following techniques is correct to show inequality of two given distributions.

(1) Ra statistics (2) X2 test
(3) Correlation Coefficient (4y Lorenz curve
Options :

53622818073. 1
53622818074. 2
53622818075.3
53622818076. 4

Question Number : 94 Question Id : 5362284639 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

f=feafag % 8§ $A-01 9% =1 28 10 famon S smeea F1 29H F o aE 2t

(1)  Rq@rfieaehi (@) x TiiEm
(3)  wEEAG TN @) =T T
Options :

53622818073. 1
53622818074. 2
53622818075. 3
53622818076. 4

Question Number : 95 Question Id : 5362284640 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Digitizing or scanning are example of which GIS procedure :

(1) Data output (2) Data acguisition
(3) Edge matching (4) Error detection
Options :

53622818077. 1
53622818078. 2
53622818079. 3
53622818080. 4

Question Number : 95 Question Id : 5362284640 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1)  =e1 srzege (fm) (2) = HUEY
(3) ©=EfEm 4 97 () 95
Options :

53622818077. 1
53622818078. 2
53622818079. 3
53622818080. 4

Question Number : 96 Question Id : 5362284641 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Histogram 1s associated with which one of the following data distribution

(1) Discrete frequency distribution

(2) Continious frequency distribution
(3) Log — normal frequency distribution
(4) Un — classified data

Options :

53622818081. 1
53622818082. 2
53622818083. 3
53622818084. 4

Question Number : 96 Question Id : 5362284641 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) ELEL T:'-II*:A_E-'I T’#I‘H'll

(2) =ad FEA fE

(3)  @m-Ada A e

(4) ST ATFET
Options :
53622818081. 1
53622818082. 2
53622818083. 3
53622818084. 4

Question Number : 97 Question Id : 5362284642 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following percentage of frequenceles between the range of 0 to + 1.00 (@)
standard deviation.

4] - 1 0 +1 +2 +3 0
(normal table value
at 1.02= 3413
(1) 34.13% (2) 38.23%
(3)  46.20% (4) 47.73%
Options :

53622818085. 1
53622818086. 2
53622818087. 3
53622818088. 4

Question Number : 97 Question Id : 5362284642 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



0 ¥ + 1.00 (0) % 1= O fa=re % s i ufaema Fofafiea § & sF-53 27

%:
-3 -2 -1 0 +1 +2 +30
(wraT ArferR |
at 1.02= 2413
(1) 34.13% (2y 38.23%
(3) 46.20% 4y 47.73%
Options :

53622818085. 1
53622818086. 2
53622818087. 3
53622818088. 4

Question Number : 98 Question Id : 5362284643 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Two dimensional diagrams are also known as

(1) Size (2) Volume
(3) Ratio (4) Area
Options :

53622818089. 1
53622818090. 2
53622818091. 3
53622818092. 4

Question Number : 98 Question Id : 5362284643 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

oo sl =i =1 5T 7

(1) #=FR™ (2) AT H
(3) A 4) ==H
Options :

53622818089. 1
53622818090. 2
53622818091. 3
53622818092. 4



Question Number : 99 Question Id : 5362284644 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which of the following maps average slope and relative relief are shown simultarcously

(1) Trachographic map (2) Planimetric map
(3) Hypsometric map (4) Morphological map
Options :

53622818093. 1
53622818094. 2
53622818095. 3
53622818096. 4

Question Number : 99 Question Id : 5362284644 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
ffefiga AETEAl § O FH-8 AEEE UF 7 99 0 S 2 S0 SiE -3 59 7 -

(1) =i wef=a (2) AT AT AT
(3)  Z=areEl oErE (4) ATFHTEEH T
Options :

53622818093. 1
53622818094. 2
53622818095. 3
53622818096. 4

Question Number : 100 Question Id : 5362284645 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which one of the following curves 1s correct to show the commulative frequency distrbution

(1) Frequency curve
(2) Ogive

(3) Log-normal curve
(4) Semi — log curve
Options :

53622818097. 1
53622818098. 2
53622818099. 3
53622818100. 4

Question Number : 100 Question Id : 5362284645 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



il ien e e e e B e P ok 2 e | e e e 0 e i

(1)  =WEw 9% (2) @wo (AT
(3) = ATHE 9= (4) HH = (HE T ) T
Options :

53622818097. 1
53622818098. 2
53622818099. 3
53622818100. 4

Question Number : 101 Question Id : 5362284646 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following rivers does not flow through Himachal Pradesh

(1) Beas (2) Chenab
(3) Jhelum (4y Rawni
Options :

53622818101. 1
53622818102. 2
53622818103. 3
53622818104. 4

Question Number : 101 Question Id : 5362284646 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Frefetas 7 § FE-0 39 o= v2w e 6 aedl 2 7

(1) =9 (2) ==
(3) ==m (4) T
Options :

53622818101. 1
53622818102. 2
53622818103. 3
53622818104. 4

Question Number : 102 Question Id : 5362284647 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The ‘Arabian Sea Branch’ and ‘Bay of Bengal Branch of Indian monsoon merge together over
which of the following region.

(1) The Punjab and adjoining Himalavas (2) Central India
(3) North East Indian States (4) Western Ghats



Options :

53622818105. 1
53622818106. 2
53622818107. 3
53622818108. 4

Question Number : 102 Question Id : 5362284647 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
AT WG S AR 9T N S ) Gl O e e A H e w S B v

(1) w9 =ik fEaem o = m gan 49 (2) == 94
(3) I-TE 9EA & T (4) ufr=i =
Options :

53622818105. 1
53622818106. 2
53622818107. 3
53622818108. 4

Question Number : 103 Question Id : 5362284648 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following 1= an example of a ‘nodal region’

(1) Damodar Valley Region (2) National Capital Region
(3) Western Ghat Region (4) Upper ganga — Yamnuna doab region
Options :

53622818109. 1
53622818110. 2
53622818111. 3
53622818112. 4

Question Number : 103 Question Id : 5362284648 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TeAtetigd O O 9rSeT A9 w1 SR wE AT R Y

(1)  =EE 9 & (2) TEE THAHT &
(3)  wiw=ndt a2z & (4) ST TI-TE 3 A A
Options :

53622818109. 1
53622818110. 2
53622818111.3
53622818112. 4



Question Number : 104 Question Id : 5362284649 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List I with List IT :

List I — Theories List IT — Proponents
(A) Thermal Contraction Theory (I  James Hutton
(B) Theory of Geosyncline (II) dJeffrevs.d
(C) Theory of Seafloor spreading (ITI) Hall and Dana
(D) Doctrine of Uniformatarianism (IV) Harry Hess

Choose the correct answer from the options given below:

(1) (A)-(D. (B)-(1I), (C)-(III). (D)-(IV)
(2) (A)-(IV). (B)-(I1I), (C)-(I). (D)-(II)
(3) (A)-(I1D), (B)-(II). (C)-(I). (D)-IV)
(4) (A)-(ID). (B)-(I1L). (C)-(IV). (D)-(D)
Options :

53622818113. 1

53622818114.2

53622818115. 3
53622818116. 4

Question Number : 104 Question Id : 5362284649 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
g1 L= &=t 11 @19 gefea it |

T 1 (Fagr) 1 1T (e
(A) TEEES g (9 e o) @
(B) =il sk T D) o F
(C) =aft =1 Higen wiiEn (II) == U =M
(D) =ifaga 3% FHreneif= av) ==
20 U foFeul § H HE 3 W =AU

(1) (A)-(T), (B)-(1I), (C)-(I1I). (D)-(IV)
(2) (A)-(IV). (B)-(IIT), (C)-(I). (D)-(II)
(3) (A)-(IID), (B)-(II). (C)-(I). (D)-(IV)
(4) (A)-(II). (B)-(IIL). (C)-(IV). (D)-(I)

Options :

53622818113. 1

53622818114.2



53622818115.3
53622818116. 4

Question Number : 105 Question Id : 5362284650 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List I with List IT :

List I — Deposits List IT — Agents
(A) Moraines (I) Wind
(B) Silt (II) Glacier
(C) Loess (ITT} Underground water
(D) Drip stones (IV) River

Choose the correct answer from the options given below:

(1) (A)-(ID). (B)-(IV). (C)-(I). (D)-(11I)
(2) (A)-(I), (B)-(IIT). (C)-(aI). (D)-(IV)
(3) (A)-(IID). (B)-(ID). (C)-(IV). (D)-(D)

(4) (A)-(IV). (B)-(I). (C)-(1II). (D)-(II)
Options :

53622818117. 1

53622818118. 2

53622818119. 3

53622818120. 4

Question Number : 105 Question Id : 5362284650 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



gt 11 gt 11 % @y gafem =it |

= 1 7= 11
(A) == O =

B) e (fwe) ID free (TERE)

(C) @A (IID) =m 7=

(D) fgwemd av) T

feu o faedl | @ WA 30 1 == FifAw

(1) (A)-(ID), (B)-(IV), (C}-(D). (D)-(I1I)
@ (AD. (B)-{ID), (C)-AD). (D)-(IV)
(3) (A)-(IIT). (B)-(IL). (C)-(IV). (D)-(D)
(4) (A)-(IV). (B)-(I). (C)-(III), (D)-(II)

Options :

53622818117. 1
53622818118. 2
53622818119. 3
53622818120. 4

Question Number : 106 Question Id : 5362284651 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match Tast T with Tist IT :

List I — Land Forms Last IT — Agents of Denudations
(A) Monadnocks Iy Wind
(B) Blind Valley (II) Glacier
(C) Drumlin (ITIT) River
(D} Dreikantes (IV) Groundwater

Choose the correct answer from the options given below:

(1) (A)-(IIL). (B)-(IV). (C)-(IL), (D)-(I)
(2)  A-aD, B)-(I1). (C)-AV). (D)-(D)
(3)  (A)-D. (B)-IV). (C)-(III). (D)-(II)
(4 (A)-IV), B)-I). (C)-I). (D)-(11I)

Options :

53622818121. 1
53622818122.2
53622818123. 3
53622818124. 4

Question Number : 106 Question Id : 5362284651 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



o=t I 5= 11L& g i |

Tl I o= 11
(A) THTE I T
(B) 9 =1l I =
(C) =H (III) ==
(D) Torwed (IV) wim=e

e f2m I foepet 3 | =E 3w = i

(1) (A)-(IID), (B)-(IV). (C)-1). (D)-(I)
(2) (A)-(I). (B)-(III). (C)-(IV). (D)-(I)
(3) (A)-(D). (B)-(IV). (C)-(IIL). (D)-(II)

@) (A)-OV), B)-AD). (C)-@). (D)-(I1T)

Options :

53622818121. 1
53622818122. 2
53622818123.3
53622818124. 4

Question Number : 107 Question Id : 5362284652 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I:  All moving objects. by virtue of their motion are capable of doing work.

Statement IT: Potential energy 1s the energy of motion.

In the hight of the above Statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false

(3) Statement I is correct but Statement 11 is false
(4) Statement I 1s incorrect but Statement II 1s true
Options :

53622818125. 1
53622818126. 2



53622818127.3
53622818128. 4

Question Number : 107 Question Id : 5362284652 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Fo (I) : =1 faefier awgn w701 i = o et 6 1 4 5 5950 F |

Fo (ID) : Teafas == 7fa= =1 21

SUEFA YA A 0 e (e §O# wE I T

(1) = (D) = (1) 2 =5 |
(@ = (D) AR (D) 2 T E
B) @ (DT 2, g F9F (D) T 2 |
(@) w9 (I) 375 2, fFg Fo9 (D) 7E 2 |

Options :

53622818125. 1
53622818126. 2
53622818127. 3
53622818128. 4

Question Number : 108 Question Id : 5362284653 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
(Types of Clouds)

(A) Altostratus (B) Stratocumulus
(C) Stratus (D) Cirus

Choose the correct answer from the options given below : (upward sequence)

() (A @), [D).(C) (2) (©), (B). (A). (D)
(3)  (B). (O). (A4), (D) 4) (C).(B). (D). (A)
Options :

53622818129. 1
53622818130. 2
53622818131.3
53622818132. 4

Question Number : 108 Question Id : 5362284653 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(A) e (B) TEFEem

(C) =m (D) @E=

= oo v fameT 7§ wE I g

(1) (&) B). D). (©C) (2) (C). B). (). (D)

(3) (B (C). (A), (D) @) (C), (B), D). (A)
Options :

53622818129. 1
53622818130. 2
53622818131.3
53622818132. 4

Question Number : 109 Question Id : 5362284654 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the processes of heating of ocean water.

(A)  Absorption of radiation from the sun
(B) Transformation of kinetic energy
(C) Melting of polar ice

(D) Violation of Ocean laws

Choose the correct answer from the options given below :

(1) (A) and (C) only
(2) (B) and (C) only
(3) (A) and (B) only

(4) (C) and (D) only
Options :
53622818133. 1
53622818134. 2
53622818135.3
53622818136. 4

Question Number : 109 Question Id : 5362284654 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(A)  HF T T TR T S

(B) T I T E=A
(C)  ydm % =1 foae

(D)  TEE AR F I

Fr= T2 ™ faepei © @ R S =g
(1) == (A) 311 (C)

(2) F=F (B) ¥ (C)

(3) === (A) #T (B)

(4) === (C) #E (D)

Options :

53622818133. 1
53622818134. 2
53622818135.3
53622818136. 4

Question Number : 110 Question Id : 5362284655 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with TLast IT :

List I — Salts 1n sea water List II — Amount 1n sea water (%)
(A) Sodium Chloride I 3.807%
(B) Magnesium Chlormde (ID) 27.213%
(C) Magnesium Sulphate (IIIy 1.260%
(D) Calecium Sulphate (IV) 1.658%

Choose the correct answer from the options given below:

1 @-In. B)-@. (C)-@V). (D)-(IID)
(2 (A)-D). B)-D). (O)-ID), (D)-IV)
3 A-@. B-ID. (©)-AV). (D)-dD

(4) (A)-(D). (B)-(ID). (C)-(IV). (D)-(I1I)
Options :
53622818137. 1
53622818138. 2
53622818139.3
53622818140. 4

Question Number : 110 Question Id : 5362284655 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



o=t I =1 5= 11 =19 "o i |

o= 1 T 11
gz 7 °§ 90 TS T AT (%)
(A) HIf=7H F=0ss I 3.807%
(B) HIEEm F=Es 1D 27.213%
(C) TimEs a2 I 1.260%
(D) foeEn TF (IV) 1.658%

= 7 ™ T 5 1w e g

(1) (A)-(ID), (B)-(I). (C)-(IV), (D)-(I1I)
(2) (A)-(ID). B)-I). (C)-(11I). (D)-(IV)
(3) (A)-(D), (B)-(III). (C)-(IV). (D)-(ID)

(4) (A)-(I), (B)-(ID). (C)-(IV). (D)-(III)

Options :

53622818137. 1
53622818138. 2
53622818139.3
53622818140. 4

Question Number : 111 Question Id : 5362284656 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I: Due to an Increase of pressure near the ocean bottom, the density also
increases from surface towards the depth.

Statement IT : If light surface water 1s driven awayv by winds. dense sub-surface water
upwells on the surface.

In the light of the above Statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement I1 are false

(3) Statement I 1s correct but Statement I1 1s false
(4) Statement I is incorrect but Statement IT is true
Options :

53622818141. 1



53622818142. 2
53622818143.3
53622818144. 4

Question Number : 111 Question Id : 5362284656 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

oM (I):  FHG Ta% F TG ga § ghg o B0 TAw H MRS F A7 g6 H g = 7
w9 (II) : =3 =00 T8 o1 501 g1 0 & S A6l 7, 2o S0-HE el TE 9 IEE] A #
ST YA H A H G e B # ®Al 3 I

(1)  F (D AR (D) ZFA = R

(@ A (D) # (1) 3+ T F

(3 T (DT 2, T F9F (1) 7o 2 |

@ (D A 7, g e (D) R

Options :

53622818141. 1

53622818142.2

53622818143.3
53622818144. 4

Question Number : 112 Question Id : 5362284657 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I: In any system of constant mass. energy 1= neither created nor destroved.
Statement IT: The energy flow 1n the ecosystem 13 NOT unidirectional.

In the light of the above Statements. choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement I1 are incorrect

(3) Statement I 1= correct but Statement I1 1s incorrect

(4) Statement I 1s incorrect but Statement II is correct
Options :

53622818145. 1
53622818146. 2
53622818147.3
53622818148. 4

Question Number : 112 Question Id : 5362284657 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



w9 (I):  §ad 95 (A8) & i 7 5 30 9 91 309 il F0dl £ 7 7 T 7 S 7
w5y (II): i a9 | 391 yans vsiasfia =7 2 |

Sl AT % A A e fen § 9 it s e
(1) =99 (D 3R (D) A T71 2 |
(2) == (I) =1 (I0) 341 971 7251 2 |
(3  Fua (D) ¥ 2, Thg 9= (ID T8 771 7 |
(4)  FF (I) T8t 771 7, g wo= (D 5 2 |
Options :
53622818145. 1
53622818146. 2

53622818147.3
53622818148. 4

Question Number : 113 Question Id : 5362284658 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(ziven below are two statements :

Statement I: The consumption of oxvgen has increased after the Industrial Revolution in
1860.

Statement II: The Brazil and India uses more oxygen annually than other countries of the
world.

In the light of the above Statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I i1s incorrect but Statement II 1s true
Options :

53622818149. 1
53622818150. 2
53622818151.3
53622818152. 4

Question Number : 113 Question Id : 5362284658 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



weF (I): ST % 399§ 1860 H 58 S wid & 512 g = 7 7 |

FoF (D) :  FT=e 7 97 fava & g9 290 9 A309% e e 5 39E w6
THEF FYA F AATF § R AT B F Faia 3999 9 91

(1) FaF @) AR AD A EA E

@ A @) QD 3 A E

(3)  Fo (O)=A 2, Frg Fow (1D 7 T 2
@ . D= 2, e 1) w2

Options :

53622818149. 1
53622818150. 2
53622818151.3
53622818152. 4

Question Number : 114 Question Id : 5362284659 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Whach of the following two sources carbon 1= released?

(A) Volcanic eruption (B) Combustim of fossil fuels
(C) Landshde (D) Open mining

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only

(3} (A} and (C) only (4) (B)and (D) only

Options :

53622818153. 1
53622818154. 2
53622818155.3
53622818156. 4

Question Number : 114 Question Id : 5362284659 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



freaferfiga =l 8 | %9 |1 g1 e gad il 27

(A) el faeEres (B) frawd SuAT * gEA

(C) Y- (D) e (3A9H) =

A o2 a1 fasedi O 9 wE I 9

(1) %94 (A) 311 (B) (2) =Hae (B) 31 (C)

(3) a4 (A) 3T (C) (4) =Hae (B) 3 (D)
Options :

53622818153. 1
53622818154. 2
53622818155.3
53622818156. 4

Question Number : 115 Question Id : 5362284660 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List I with Last IT :
List T — (Book Name) List IT — (Authors)
{A) Fundamentals of Ecology (. ' H.K. Gupta
(B) India’'s Water Wealth (I D.N. Wadia
(C) Geology of India (III) E.P. Odum
(D) Dams and Earthgakes (IV) EK.L. Rao

Choose the correct answer from the options given below:

(1) (A)-(III). (B)-(II). (C)-(IV). (D)-(D)
(2) (A)-(IIT). (B)-(IV), (C)-(II). (D)-(I)
(3) (A)-(IT). (B)-(III), (C)-(T). (D)-(IV)

(4) (A)-(IV). (B)-(I). (C)-(IL), (D)-(I1I)

Options :

53622818157. 1
53622818158. 2
53622818159. 3
53622818160. 4

Question Number : 115 Question Id : 5362284660 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



o I 9= 11 % =19 gefem ifso |

T T 11
(A) FHoHEA AT SHET @ = F. T
®) e A Aoy an . . s
(C) T =i sfem D 3. 9. sA=n
(D) =7 g wWiwET IV) #* A T3
S fo = fashet 9 & T I g

(1) (A)-(I1IT). (B)-(II). (C)-(IV). (D)-(I)
(2) (A)-(III). (B)-(IV). (C)-(II). (D)-(I)
(3) (A)-(IT). (B)~(III). (C)-(I). (D)-(IV)

(4) (A)-(IV), (B)-(D). (C)-(II). (D)-(I1I)

Options :

53622818157. 1
53622818158. 2
53622818159.3
53622818160. 4

Question Number : 116 Question Id : 5362284661 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Given below are two statements :
Statement I: The Darwinian theorv of origin of species almost conform to the law of
uniformitarianism.
Statement II: There are heritable variations in the individual species.
In the hight of the above Statements. choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement IT are incorrect

(3) Statement I 15 correct but Statement II 1s incorrect
(4) Statement I 1s incorrect but Statement II is correct
Options :

53622818161. 1



53622818162. 2
53622818163. 3
53622818164. 4

Question Number : 116 Question Id : 5362284661 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

g 21 9 fau #

wu () :  STEA = g Sal =l 300icd ATTH9 ThETdEns & 99 % 529 7 |

Fo (ID) :  =Afaas =11 4 9o fafg=an 2 |

ST FYA A § [ faed 8§ Fai S999d 39 91
(1) === (D ¥ 1D 34 &8 7 |

(2)  F (D R (D) 3 7@ A= 7

(3) @A 1) =d 7, T FoF (1) T2 75 7 |

@ w5 TE 2, g 99 qD T8 7

Options :

53622818161. 1
53622818162. 2
53622818163. 3
53622818164. 4

Question Number : 117 Question Id : 5362284662 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The Characteristics of the couontries engaged 1n subsistence farming include

(A) Developing economy (B) High density of population
(C) Low level of technology (D) High developed international trade

Choose the correct answer from the options given below :

(1) (A), (B) and (D) (2) (B), (C) and (D)
(3) (B) and (C) (49) (A, (B)and (C)
Options :

53622818165. 1
53622818166. 2
53622818167. 3
53622818168. 4

Question Number : 117 Question Id : 5362284662 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Hraq-fate @t & =@ § e oo &1 faumanst § fefateg aeg onfos 2.

(A)  fasmEsiel siefemaen (B) TEREA] H1 3 THe

(C)  SrEER e (D) = Tafn S=RIgE Smn
fr feu o faerei # @ = 3R g

(1) (A). (B) 37 (D) (2) (B), (C) 31 (D)

(3)  (B) 3 (C) (4) (A). (B) 31 (C)
Options :

53622818165. 1
53622818166. 2
53622818167. 3
53622818168. 4

Question Number : 118 Question Id : 5362284663 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List T with List IT :

List I — (Settlement) List IT — (Pattern)
S = (I)  Uniform
(I)y Random

(IIT) More clustered than uniform

,q
N '..'[:

(IV) Clustered

Choose the correct answer from the options given below:

(1) (A)-(II), (B)-(I), (C)-(IV), (D)-(III)
(2) (A)-(D). (B)-(II). (C)-(IV). (D)-(I1I)
(3) (A)-(IT). (B)-(I). (C)-(I1T), (D)-(IV)
(4) (A)-(ID). (B)-(IV). (C)-(D). (D)-(11I)

Options :

53622818169. 1

53622818170. 2

53622818171.3
53622818172. 4

Question Number : 118 Question Id : 5362284663 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



=1 11 g= 1% w19 geierd it |

T I 7= I
o @
I =E=s®
rm D_ (IID) v i 379 =1fas Teaa
¥ V) T=aa
= 7 ™= foFem 7 7 T e g

(D (A)-(II). (B)-(D). (C)-(IV). (D)-(I1I)
(2) (A)-(D. (B)-ID). (C)-(IV). (D)-(11I)
(3) (A)-(II). (B)-(D). (C)-(1D), (D)-(IV)
(4) (A-ID). (B)-AIV). (C)-(D). (D)-(1II)

Options :

53622818169. 1
53622818170.2
53622818171.3
53622818172. 4

Question Number : 119 Question Id : 5362284664 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with List IT :

List I — (Measurement Methods) List II — (Devised by)
(A) Rank coefficient Method (I  Jasbir Singh
(B) Crop vield and concentration indices (I) Dudley stamp
(C) Carrying capacity of land (ITIT) Eendall
(D) Index of Productivity (IV) M. Shafi

Choose the correct answer from the options given below:

(1) (A)-dD. (B)-(). (O)-ID. (D)-IV)
(2) (A)-(IV). (B)-(IID). (C)-(D). (D)-(II)
(3) (A)-(D). (B)-(IV). (C)-(II). (D)-(1I)

(4) (A)-(IT). (B)-(I). (C)-(IV). (D)-(ILI)
Options :
53622818173. 1
53622818174. 2
53622818175.3
53622818176. 4

Question Number : 119 Question Id : 5362284664 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



gl 1 |t 11 % \1g gufes #ifm |

o= 1 T=fi 11
7y fafea RIGRICGC?
(A) T wofEfee gug @ e e
(B) @M ez wwg A gfeuy (II) gzl =
(C) i Fated] 31 dvg (IIT) *==e
(D) z2am 3 wisfafad IV) s, S

(1) {(A)-(III), (B)-(I), (C)-(IL), (D)-(IV)
(2) (A)-(IV). (B)-(IIL). (C)-(I). (D)-ID)
(3) (A)-(I), (B)-(IV), (C)-(II). (D)-(III)

(4) (A)-(IT). (B)-(TI), (C)-(IV). (D)-(IIT)

Options :

53622818173. 1
53622818174.2
53622818175.3
53622818176. 4

Question Number : 120 Question Id : 5362284665 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Consider the following statements regarding the weaver's method of crop combination.

(A)

(B)

(C)

(D)

He proposed a method of analysis superior to simple inspection of the relative weights

of the enterprises in a given area.

He added a time dimension to the notion that Britain's best and worst agricultural
land has not changed during last century.

He sought to find the number of enterprises that minimized the difference between the
actual and theoretical enterprise combinations.

He adopted a measure of yield defined as the potential production of one acre of good
average farmland under good management

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A), (B) and (C) only
(A}, (C) and (D) only
(A) and (B) only
(A) and (C) only

Options :

53622818177. 1
53622818178. 2
53622818179. 3
53622818180. 4

Question Number : 120 Question Id : 5362284665 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



FHA T & 91 o Fen i ugfa % 9n 0 fafefigs sy w fTEe Fifbv .
(A)  ZTEH feu o s e d IUEHT & BMEE UEE & wan e 8 g e ggfa wetan
el

(B) IEM IH 9RO § gUF &1 AEW WAl 6 Tee waedl & ara g & gaey i 59y wE
FHY-gH | qiEdq T6 g3 2 |

(Cy  I=|HE 39 T il TEN w UAT oA F A TR, e anatas e geras IUEdl W+

TS § 37 1 ey R |

(D) TEH 399 % UH WA H 9, T 519 eee % AT UF TS & e 3 $ie-wn
% TS ITET o =9 | uieie e

i fau o fawedt # ® @ I gRw

(1)  FFa (A), (B) 311 (O)
(2)  HFA (A). (C) #7 (D)
(3)  Hae (A) 3T (B)
4)  waE (A) R (C)
Options :
53622818177. 1
53622818178. 2

53622818179.3
53622818180. 4

Question Number : 121 Question Id : 5362284666 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match Tast T wath Last IT ;

List I — (Name of Author)
(A) A Weber

(B) E.M. Hoover

(C) A.Pred
(D) D.M. Smith

List IT — (Name of Book)

(I) Industrial Location : An Economic

Geogaphical Analysis.

(II) Behaviour and Location : Foundations
for a Geographic and Dynamic
Location theory.

(III) The Location of Economic Activity
(IV) Theory of the Location of Industries

Choose the correct answer from the options given below:

@O (A-D. B)-1D). (C)-1ID). (D)-aV)
@  (A-aD. B)-a1). (C)-IV). (D)-(I)
(3)  (A)-ID). (B)-(IV). (C)-(I). (D)-(ID)
4 (A)-AV), (B)-(IID), (C)-(II). (D)-(I)

Options :

53622818181. 1
53622818182. 2
53622818183.3
53622818184. 4

Question Number : 121 Question Id : 5362284666 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0



o 11 9=t 11 % @9 gt Hifsm |

(A)

(B)

(©)
(D)

fau 7w faehedl o 9 TR 39 w0 == il

(1)
(2)
(3)
(4)

= 1
T T
ERR e

(A)-(D, (B)-(ID), (C)-(III), (D)-(IV)
(A)-(IL). (B)-(III). (C)-(IV). (D)-(D)
(A)-(IIT). (B)-(IV). (C)-(I). (D)-(II)
(A)-(IV), (B)-(I1I), (C)-(1I). (D))

Options :

53622818181. 1
53622818182. 2
53622818183.3
53622818184. 4

=i I
['].: PE. PJq:q
(ID) fardimm U= whee:  FEs9E BE U

(III) = =FTH HTF SREATE Ui
(IV) =M 3ATF = TR SATF S5

Question Number : 122 Question Id : 5362284667 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Matech List I with List 1T :

ListI List IT
(A) Heartland (Il Van Valkerburg
(B) Rimland (I Ratzel
(C) Classification of state (ITII) Spyvkman
(D) Law of territorial growth of states (IV) Mackinder

Choose the correct answer from the options given below:

(1) (A)-(IV), (B)-(I1L). (C)-(D). (D)-(II)
(2) (A)-(III). (B)-(IV), (C)-(II). (D)-(I)
(3) (A)-(D. (B)-(ID), (C)-(I11). (D)-(IV)

(4) (A)-(II), (B)-(I). (C)-(AV), (D)(III)

Options :

53622818185. 1
53622818186. 2
53622818187.3
53622818188. 4

Question Number : 122 Question Id : 5362284667 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



g 1 %1 g 118 gufera $Hif |

T I 1 11
(A)  HE e (1) &9 FredTat
(B) ufmreE (fmae) (II) T&5m
(C) 759 =] G (III) TS
D) T & ey fawm = fmgn av) Hfe=
feu o faereai § 8 99 39 =1 991 Fifau .

(1) (A)-(IV). (B)-(I1I). (C)~(I). (D)-(II)
(2) (A)-(III). (B)-(IV). (C)-(II). (D)-(I)
(3) (A)-(I). (B)-(II). (C)-(III). (D)-(IV)
(4) (A)-(ID). (B)-(I). (C)-(IV). (D)-(III)

Options :

53622818185. 1
53622818186. 2
53622818187.3
53622818188. 4

Question Number : 123 Question Id : 5362284668 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Read the following statement regarding Hypsometric curve

(A) It shows the area — height relationship of a drainage basin.

(B) A convex curve indicates that bulk of the basin's area remains at relatively low

elevation.

(C) A concave curve 1s characterized by diffusive hill slope processes such as land shding.

soll creep etc.

(D)  The simple way to characterize the shape of hypsometric curve for any drainage basin

1s to calculate hypsometric integral (HI).

Choose the correct answer from the options given below :

(1) {A). (B) and (C) are correct
() (B) and (C) are correct
(3) {A) and (D) are correct

(4) (A). (B). (C) and (D) are correct
Options :

53622818189. 1

53622818190. 2

53622818191. 3

53622818192. 4

Question Number : 123 Question Id : 5362284668 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Freafetfian sifasperdi 91 Teaamasl @ (fewiniitze ) % e # g .

(A) I8 ET2 30 (drainage basin) F1 HT%6-5 918 T99 291 2 |
(B) UH I 9% (e &d) guian 2 o Afasie smame @3 smanga fm Fam o g 2 |
(C) U Eae o YEEer, g1 Juv anife St faufa wardt e s i favwe g vEen S 2|

D) TR AvEE-gm & foo fed seaameei g & st & {9 IS W e w0 8 Teaare
TS (TE-3T8) & TUET FHET |

43 fau o fae @ TE I SR

(1)  (A). (B) 37 (C) =& & |
(2)  (B) %R (C)HE )
(3)  (A) 3T (D) FE B

(4) (A (B). (C) 30 (D) &S & |

Options :

53622818189. 1
53622818190. 2
53622818191. 3
53622818192. 4

Question Number : 124 Question Id : 5362284669 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List T with Last IT :

List I — Mountain passes List IT — State
(A) The Banihal Pass (). Uttarkhand
(B) The Bara Lacha La Pass IO Sikkim
(C) The Jelap La Pass (III) Jammu and Kashmir
(D) The Lipu Lekh Pass (IV) Himachal Pradesh

Choose the correct answer from the options given below:

(1) (A)-(D, (B)-(IV). (C)-(I1D). (D)-(1II)
(2) (A)-(IT), (B)-(I), (C)-(IV), (D)-(I1I)
(3)  (A)-IID. (B)-(II). (C)-(IV), (D)-(I)

(4) (A)-(IID). (B)-(IV). (C)-(ID). (D)-(D)

Options :

53622818193. 1
53622818194. 2
53622818195. 3
53622818196. 4

Question Number : 124 Question Id : 5362284669 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



== 11 7=t 115 gafea i |

g1 =t IT
(A) = g @O FEs
(B) & &= E A () T=fFFa
(C) =g = = (IID) =7 FK FYHA
(D) fog = = V) femrs wem

Fre fau o faed § § WA I w6 9= iy

(1) (A)-(I), (B)-(IV). (C)-(IID). (D)-(II)
(2) (A)-(II), (B)-(I), (C)-(IV). (D)-(I1I)
(3)  (A)-D. (B)-(D). (C)-IV). (D)-(I)
(4) (A)-(ITD). (B)-(IV), (C)-(IT). (D)-(T)

Options :

53622818193. 1
53622818194. 2
53622818195.3
53622818196. 4

Question Number : 125 Question Id : 5362284670 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following statement are true for deceleration in agricultural growth in Post
reform period.

(A) Deceleration in public and general investment in agriculture.
(B) Dwidling farm size

(C) Failure to develop new technologies

(D) Progressive land reforms

Choose the correct answer from the options given below :

(1) (A (B).(C) and (D) (2) (A) and (B) only
(3) (B) and (D) only (4) (A). (B) and (C) only
Options :

53622818197. 1
53622818198. 2
53622818199. 3



53622818200. 4

Question Number : 125 Question Id : 5362284670 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

- - e PR

FefeEd ¥ 1 FF F $99 ORT He (92 TEE fiiEs) 9 F6 9 9 594 F 9n 5 795 5
(A)  F A FEAE AT wH e

(B) @A T HEAT AN

(C) = et F faww o fawe

(D) FH= gH-gaw

< fam T e | @ wE I g

1) (A). (B). (C) 5 (D) (2) = (A) #1 (B)

(3)  Fae (B) 3 (D) (4) F=9 (A). (B) ¥ (C)
Options :

53622818197. 1
53622818198. 2
53622818199. 3
53622818200. 4

Question Number : 126 Question Id : 5362284671 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statement 1s/are not true for green revolution in India?
(A) Green Revolution ensured that there was no regional disparity.
(B) Green Revolution ensured increased productivity among selected crops.

(C) Green Revolution ensured uniform earnings among all farmers.
(D) Green Revolution ensured mechanization in farms.

Choose the correct answer from the options given below :

(1) AB. CandD (2) Only A
(3) Only B (4) Omnly D
Options :

53622818201. 1
53622818202. 2
53622818203. 3
53622818204. 4

Question Number : 126 Question Id : 5362284671 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



frAferfiga °§ O =i /F98 F99 97d 9 21 Hid # 960 5 58 15 27

(A)  #fE wia F i o e g & = 29 # g
(B) A HId F =T4Hd FE=1 T IEA-91G THEE |

(C) =l Hifa J =1 FIH F o9 T% FAE A T 4 |
(D)  FFa Fifd F =al § geiEE # gEfrad 5 |

= fau v famel 9 | wE S 9T

(1)  (A). (B). (C) w7 (D) (2) =FaE (A)

(3) waw (B) (4) Fa= (D)
Options :

53622818201. 1
53622818202. 2
53622818203. 3
53622818204. 4

Question Number : 127 Question Id : 5362284672 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Given below are two statements : One 1s labelled as Ascertion (A) and the other is labelled as

Reason (R} :

Asgertion (A) : Aleutian Islanda are a site of Voleanic eruptions.

Reasons (R) : Convergent plate margins are sites of voleame eruptions.

In the light of the above Statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 1= correct but (R) 1s not correct

(4)  (A) 1= not correct but (R) is correct

Options :

53622818205. 1
53622818206. 2
53622818207. 3
53622818208. 4



Question Number : 127 Question Id : 5362284672 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e =1 A 72U 0 U w1 W (A) HA g8 H A (R) FaE T

ATFIE (A) TEgTEA 219 SATaT SR T B E
% (R) : STHT] GTgeh I SETEEE EEE T A E

ST FUAT F AATE 8 A 120 M0 T § F TaE 39 3 1 99 i
(1) (A) =1 (R) I41 981 2 210 (R), (A) 1 =81 =me 2 |

(@) (&) 3R R) I TE E WG (R), (A) F 7 = 76 2

(3) (A=A =, wg (R) 7= 7 |

(@) (A)7eE 7, wa (R) 771 7

Options :

53622818205. 1
53622818206. 2
53622818207. 3
53622818208. 4

Question Number : 128 Question Id : 5362284673 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labeled as Assertion (A) and the other 1s labeled as

Reason (R) :

Assertion (A):  Along with water vapour, carbon dioxide 1s largely responsible for the green

house effect of the atmosphere.

Reasons (R) : Carbon dioxide 1s not an important heat absorber.

In the light of the above Statements, choose the most appropriate answer from the options
given below :

@ Both (A) and (R) are true and (R) 1s the correct explanation of (A)

2 Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
3 (A) 1s true but (R) 1s false

4 (A) 1s false but (R) 1s true

Options :

53622818209. 1
53622818210. 2
53622818211. 3
53622818212. 4

Question Number : 128 Question Id : 5362284673 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fr9 21 o 50 ™ v ) s (A) W gE W o (R) TR TR

safipEs (A) : A F WY FEA-SE ATFATSS AEE § GHAREE T4 R 0 qead: e
aF (R): FEH-SEAFHIES TF Hacd 0 919 HF=90F 741 7 |

ST AT F AAE W G e B F JE 39 A

D @) s ®) 3 = F o ®), (&) F 7 == 2

%) (A) 311 (R) 21 @Al 7 wird (R). (A) 1 571 =am=a1 741 7 |

@ (@ywh ¢, Ty @ w2

@ @ywh AL T @ R

Options :

53622818209. 1
53622818210. 2
53622818211. 3
53622818212. 4

Question Number : 129 Question Id : 5362284674 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labeled as Assertion (A) and the other i1s labeled as

Reason (R) :
Assertion (A):  The moon's high tide time-lag 1n each day 1z 50 minutes.
Reasons (R) : The total duration required to complete the two cycles of high and low tides

at any place 15 24 hours 50 minutes.

In the light of the above Statements. choose the most appropriate answer from the options

given below :

L Both (A) and (R) are correct and (R) 12 the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
3 (A) 1s correct but (R) 1s not correct
@ (A) 1s not correct but (R) 1s correct
Options :

53622818213. 1
53622818214. 2
53622818215.3
53622818216. 4

Question Number : 129 Question Id : 5362284674 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



1= 2 Fo T W E v o At (A) 3 g A (R) FE T R

ATTFE (A) : T T3 ° T2 g1 A w9 9EE A (#) 50 T w2
7+ (R) : s=e 311 fAeT IR AT TR T O 2 S g e A Fe #Etg 24 52 50 foez |

ST FUAT % ATEE H A wOA W R s et § 8 w9 e gih

D (a) ste @) 3 3 st R), (&) FwH ==

2) (A) AN (R) ZM1 @=1 & g (R), (A) Fi T2 = =47 2 |

@ @ywh @

@A) = 2w R) T B

Options :

53622818213. 1
53622818214.2
53622818215.3
53622818216. 4

Question Number : 130 Question Id : 5362284675 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labeled as Assertion (A) and the other 1s labeled as

Reason (R) :

Assertion (A):  The globalization of production 1s concomitant to the globalization of trade.

as one can't function without the other.

Reasons (R) : The scale, volume and efficiency of international trade have all continued to
increase since the 1970s due to ongoing process of global space / time

convergence.

In the light of the above Statements. choose the most appropriate answer from the options

oiven below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 18 NOT the correct explanation of (A)
(3) (A) 18 correct but (R) 1s not correct

(4 (4) 1s not correct but (R) 1s correct

Options :

53622818217. 1
53622818218. 2
53622818219. 3
53622818220. 4

Question Number : 130 Question Id : 5362284675 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



FreAfefiaa & F99 2 @ UF SfEEI (A) T 39 7% (R) 2 |

AlTFYA (A) : SeqTER 1 AREE ST F AaE w1 WEadl 2 HHE UF g F 6 FE 98
o |
T (R) ; 1970 =+ =9 o =1 Afvas wue /o # At £ 9 F F s S

IUGF FUAT o AT J I (Ghea] § H Haias 3UgFd 5 91

(1) (A) =7 (R) =41 T2 2 =17 (R). (A) Fi 77 == 2|
@ (A I ®) A FE = W (R). (A) FFE = = G
(3) (AT 7, g R) T T 2

4 (A =F F 2, 7 (R) 98 7
Options :
53622818217. 1
53622818218. 2
53622818219. 3
53622818220. 4

Question Number : 131 Question Id : 5362284676 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labeled as Assertion (A) and the other is labeled as

EReason (R) :

Assertion (A):  The land capability approach 1s that where land was graded according to 1ts
suspectibility to soll erosion under differing farming and forestry systems of

production.

Reasons (R) : The most demanding system of production would therefore concentrate on

the best and the most extensively on the poorest land.

In the light of the above Statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 18 correct but (R) 1s not correct

(4) (A) 18 not correct but (R) 1s correct
Options :
53622818221. 1
53622818222.2
53622818223.3
53622818224. 4

Question Number : 131 Question Id : 5362284676 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



= 31 oA T2 0 F : wF s (A) 2 g0 T (R) B

AT (A) : gy e 39T 9% 7 5 561 3o 1 At 3 3 et womeft % st gaee §

7% (R) : IETEA T ACATIE HITAA TUTA! i Scd9 Y0 W HEeg 21 £ S SAE 'Y H g
iy T2 =71 7 |

STFA H AR TG [ | o Halas 3999 I 9

1) (A)F (®) 3 T E AR R), Q) F = == 2
(2)  (A) 37 (R)3H 791 & w4 (R), (A) Fi 79 = 76 2|
(®) (A=A E, vy (R) A F

(49 (A= T 2, W (R) TE A

Options :

53622818221. 1
53622818222.2
53622818223.3
53622818224. 4

Question Number : 132 Question Id : 5362284677 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labeled as Assertion (A) and the other 1s labeled as

Reason (R) :

Assertion (A) : Von theunen argued that the sectoral fields are the most irrational.

reducing the time spent by the farmers in travelling around the farm.

Reasons (R) : Sectoral fields are not common but they are used In varying farming

systems and environments.

In the light of the above Statements, choose the most appropriate answer from the options

given below :

(1)
@
(3)

(4)

Options :

Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (4)
(A) 1s correct but (R) 1s not correct

(A) 1s not correct but (R) 1s correct

53622818225. 1
53622818226. 2
53622818227.3
53622818228. 4

Question Number : 132 Question Id : 5362284677 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



= 31 wuF 20 T 2 - v w0 AT (A) HWE 2 a6 (R) A TR

A (A) =1 Tiga = o T 7 oeim et watfas smrtes = @ 3R e g gd & 2

R smarmE § faam 99 999 & 9267 F |

7% (R) : HAFE Td TET TR AW, Afow S A -T9 FHY TOner ST T=iew § S9ge

I9IF FUAT F AF § (AR fased 0§ garis 39ged I 9

@ (@R @) I E SR R). (A) FwE e
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Options :

53622818225. 1
53622818226. 2
53622818227. 3
53622818228. 4

Question Number : 133 Question Id : 5362284678 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labeled as Assertion (A) and the other 1s labeled as

Reason (R) :

Assertion (A): In areas of intensive subsistence agriculture., amimal husbandary is a

meager sideline of crop farming.

Reasons (R) : Throughout the region, the farmers are handicapped in raising cattle due to

lack of scientific methods of breeding the animals.

In the lhight of the above Statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (4)
(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(3) {A) 13 true but (R) 1z false

(4) (A) 1s false but (R) 1s true

Options :

53622818229. 1
53622818230.2
53622818231. 3
53622818232. 4

Question Number : 133 Question Id : 5362284678 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



9 31 e f3u U E - w D AR (A) AT 3w T (R) FE AR

Al (A) A SEE AR 0 F A § 9UITEE BEE 30T i U A0 ST 7 |
T (R) : Pl i e e e B B e e e e e B e e 1 e e e

TEAA-T190] ° ST 300 2l 7 |
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@ (@) R ®) I AR S R). (A) F O ==
@A) ®R) 3 A R g R), (A) EE == 6>
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Options :

53622818229. 1
53622818230. 2
53622818231.3
53622818232. 4

Question Number : 134 Question Id : 5362284679 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1= labeled as Assertion (A) and the other 1s labeled as

Reason (R) :

Assertion (A):  The locational — chimatic factors put Mackinder's Heartland at a relative
disadvantage as compared to certain other larger and well to do areas of the

world.

Reasons (R) : Heartland was a region of permanent difficulties because of i1ts location and

resultant extreme climate.

In the light of the above Statements. choose the most appropriate answer from the options

given below :

(1) Both {A) and (R) are correct and (R) 1z the correct explanation of (4)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (4)
(3) (A) 1= correct but (R) 1s not correct

(4) {A) 1s not correct but (R) 1s correct

Options :

53622818233. 1
53622818234. 2
53622818235.3
53622818236. 4

Question Number : 134 Question Id : 5362284679 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622818233 1
53622818234.2
53622818235. 3
53622818236. 4

Question Number : 135 Question Id : 5362284680 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labeled as Assertion (A) and the other is labeled as

Reason (R) :

Aszsertion (A):  Thermal infrared energy in remote sensing 1s sensed by radiometers.
Reasons (R) : Thermal infrared can neither be seen by human eyes nor can be
photographed.

In the light of the above Statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (4)

@ Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)

(3) (A) 1= correct but (R) 1s not correct
@ (A) 18 not correct but (R) 1s correct
Options :

53622818237. 1
53622818238. 2
53622818239.3
53622818240. 4

Question Number : 135 Question Id : 5362284680 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(3) (A TH 2, W (R) TE A 2 |

@ (A wE FE R, v (R) HA R

Options :

53622818237. 1
53622818238. 2
53622818239.3
53622818240. 4

Question Number : 136 Question Id : 5362284681 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1= labeled as Assertion (A) and the other 1s labeled as

Reason (R) :

Assertion (A):  Laterite soil is formed under the conditions of high temperature and high
rainfall with alternate wet and drv periods.

Reasons (R) : The laterite soils swell greatly and become sticky when wet in rainy season

and also known as ‘Self ploughed’.

In the light of the above Statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) {A) 1s correct but (R) 1s not correct

(4) {A) 1s not correct but (R) 1s correct

Options :

53622818241. 1
53622818242, 2
53622818243. 3
53622818244. 4

Question Number : 136 Question Id : 5362284681 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622818241. 1
53622818242. 2
53622818243.3
53622818244. 4

Question Number : 137 Question Id : 5362284682 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labeled as Assertion (A) and the other 1s labeled as

Reason (R) :

Assertion (A): At present the government sector 1s the largest consumer of information

technology (IT) services in India.

Reasons (R) : The Indian companies have out performed MNC’s in the total revenue and

even IT export market share.

In the light of the above Statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1= the correct explanation of (4)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) 1= not correct but (R) 1s correct
Options :
53622818245. 1
53622818246. 2
53622818247. 3
53622818248. 4

Question Number : 137 Question Id : 5362284682 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622818245. 1
53622818246. 2
53622818247.3
53622818248. 4

Question Number : 138 Question Id : 5362284683 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labeled as Assertion (A) and the other 1s labeled as

Reason (R) :

Assertion (A):  Globalization raises the degree of independence resulting in lesser control

over the domestic economy and loss of economic sovereignty.

Reasons (R) : Globalization promotes consumption cultures that may not be 1n

consonance with the hifestyles and values of all the countres.

In the light of the above Statements, choose the most appropriate answer from the options

given below ;

(1) Both (A) and (R) are correct and (R) 1= the correct explanation of (4)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) {A) 1s correct but (R) 1s not correct

(4) (A) 1s not correct but (R) 1s correct

Options :

53622818249. 1
53622818250. 2
53622818251. 3
53622818252. 4

Question Number : 138 Question Id : 5362284683 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622818249. 1
53622818250. 2
53622818251.3
53622818252. 4

Question Number : 139 Question Id : 5362284684 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labeled as Assertion (A) and the other 1s labeled as

Reason (R) :

Assertion (A) :  Buld operate transfer (BOT) 1s a scheme under which public operators are

invited to construct roads and bridges.

Reasons (R) : The national highways act has been amended to facilitate private

investment under (BOT) scheme.

In the hight of the above Statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (4)
(3) (A) 18 correct but (R) 1s not correct

(4) (A) 18 not correct but (R) 1s correct

Options :

53622818253 1
53622818254. 2
53622818255. 3
53622818256. 4

Question Number : 139 Question Id : 5362284684 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
53622818253. 1
53622818254. 2
53622818255. 3
53622818256. 4

Question Number : 140 Question Id : 5362284685 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labeled as Assertion (A) and the other 1s labeled as

Reason (R) ;

Aszsertion (A) : Globalization has resulted in widening inequalities between the forward

and backward states in India.

Eeasons (R) : The organized sector provided 63% of net domestic product but provided

employment to 93% of work-force.

In the licht of the above Statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) {A) 18 correct but (R) 1s not correct

(4) (A) 1s not correct but (R) 1s correct

Options :

53622818257. 1
53622818258. 2
53622818259.3
53622818260. 4

Question Number : 140 Question Id : 5362284685 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622818257. 1
53622818258. 2
53622818259.3
53622818260. 4

Sub-Section Number : 2
Sub-Section Id : 536228185
Question Shuffling Allowed : Yes

Question Id : 5362284686 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension



Instruction : Please read the following passage and answer the questions 91 — 95.

Tropical cyclones are closed low — pressure systems, generally about 650 km in diameter,
which bring violent winds, torrential rainfall and thunderstorms. Generally. they contain a
central region. the eve, with a diameter of about ten kilometres with light winds and more or
less lightly clouded sky. In order for cyclones to develop various conditions need to be fulfilled.
There must be a plentiful supply of moisture. and for this reason distribution of cvclones 1s
closely related to those regions where the highest sea — surface temperatures are found. 1.e.
the western portions of the tropical oceans in late summer with temperature of at least 27°C.
This moisture provides the necessary latent heat to drive the storm and to provide the
rainfall. Tropical cvelones tend to occur mainly in between the Tropic of Capricon and Tropic
of cancer except the equatorial region 1.e.5° on both side of the equator because closer than
that to the Eguator the Coriclis parameter approaches Zero. The main cyclone activity in the
Northern Hemisphere 1s in late summer and autumn during the time of the equatorial
trough’s northern displacement.

Sub questions

Question Number : 141 Question Id : 5362284687 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following elements 1s not assoclated with tropical cyclones?

(1) Violent winds (2) Torrential rainfall
(3) Thunderstorms (4) Dense fog
Options :

53622818261. 1
53622818262. 2
53622818263. 3
53622818264. 4

Question Number : 142 Question Id : 5362284688 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s the regional name of tropical cyelone in West Indies?

(D) Willy Wally (2) Hurricane
(3) Typhoon (4) Cyclone
Options :

53622818265. 1
53622818266. 2
53622818267. 3
53622818268. 4

Question Number : 143 Question Id : 5362284689 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following conditions is essential to develop a tropiecal cyclone?

(1) Low wind speed (2) Mixing of cold and warm ocean currents
(3) Plentiful supply of molisture (4) Mixing of Saline and sweet water
Options :

53622818269. 1
53622818270. 2
53622818271.3
53622818272. 4

Question Number : 144 Question Id : 5362284690 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following sea-surface temperature is ideal for the formation of tropical
cyclone?

(1) 27°C (2)y 20°C
(3) 17°C (4) 15°C
Options :

53622818273. 1
53622818274. 2
53622818275.3
53622818276. 4

Question Number : 145 Question Id : 5362284691 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The cyclone activity in the Northern Hemisphere 1s associated with

(D Spring and Winter (2) Spring and Autumn
(3) Autumn and Winter (4) Summer and Autumn
Options :

53622818277. 1
53622818278. 2
53622818279. 3
53622818280. 4

Question Id : 5362284686 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 5362284687 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
fraforfiaa @ & & @ a0 390 Hieau award & dafaa 98 27

(1) 3ZwEEn (2) THATHR T
(3)  afea Emaa (4) TFT FHIET
Options :

53622818261. 1
53622818262. 2
53622818263. 3
53622818264. 4

Question Number : 142 Question Id : 5362284688 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
%2 2219 1 7w wieadfig wwam & fou frmfefea 9 =9 @ a6 am 29

(1)  faefi-faeh (2) EREFA
(3)  CEEA (4) wETEFANA
Options :

53622818265. 1
53622818266. 2
53622818267. 3
53622818268. 4

Question Number : 143 Question Id : 5362284689 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



3w FEEH Tard & famm & foo feafafiga smeen © 8 #5599 s smEvTs 20

1) = o1 g (2)  HerEEE % 3E 9 7 el & e
(3) W= A fr sy (4) AU 3 did I & faem
Options :

53622818269. 1
53622818270. 2
53622818271.3
53622818272. 4

Question Number : 144 Question Id : 5362284690 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fATeiEs IPR—ods 999E 5 B % 9 G99 39 HieadE Twan a6 e e
1)  27°C @ 20°C
@  17°C @ 15°C

Options :

53622818273. 1
53622818274. 2
53622818275.3
53622818276. 4

Question Number : 145 Question Id : 5362284691 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Tl T H AT At fa w82

(1)  =®=d 9 Hdf (2) =HA 9 L
(3) WHg 9 gal (4) g q Iz
Options :

53622818277. 1
53622818278. 2
53622818279. 3
53622818280. 4

Sub-Section Number : 3
Sub-Section Id : 536228186
Question Shuffling Allowed : Yes

Question Id : 5362284692 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension



Passage
Consider the following data and answer questions :

S.No. | Class lmit | Frequency

1 101-200 4
2 201-300 12
3 301-400 24
4 401-500 40
) 501-600 16
6 601-700 12
7 701-800 10
3 801-900 5
9 901-1000

Sub questions

Question Number : 146 Question Id : 5362284693 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following is the relative frequency in percentage for class limit 301-400 from
the given data set.

(1) 18.2 (2)y 19.2
(3) 20.2 (4) 242
Options :

53622818281. 1
53622818282. 2
53622818283.3
53622818284. 4

Question Number : 147 Question Id : 5362284694 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following 1s the cumulative frequency for the class limit 401 — 500 from the
given data set.

(1) 24 (2) 40
(3) 16 (4) 80
Options :

53622818285. 1
53622818286. 2
53622818287.3
53622818288. 4

Question Number : 148 Question Id : 5362284695 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following 1s the cumulative frequency of the entire data set

(1) 125 (2) 24
(3) 40 4y 118
Options :

53622818289. 1
53622818290. 2
53622818291.3
53622818292. 4

Question Number : 149 Question Id : 5362284696 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following 1= the amthmetic mean value for the given data set

(1) 125 (2) 40
(3) 433 (4) 603
Options :

53622818293. 1
53622818294. 2
53622818295.3
53622818296. 4

Question Number : 150 Question Id : 5362284697 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following 1s the mode value for the given data set

(1) 483 (2) 126
(3) 400.5 (4) 441
Options :

53622818297. 1
53622818298. 2
53622818299. 3
53622818300. 4

Question Id : 5362284692 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension



T

T . Eﬂf; : ﬁf 1 'j.TIT J--;_J’Fl?‘ﬁ[ :‘fd 3

FH. | WI-HE | =S
1 101-200 4
2 201-300 12
3 301-400 24
4 401-500 40
5] 501-600 16
§] G01-700 12
7 T01-800 10
8 =201-900 5
9 901-1000 &

Sub questions

Question Number : 146 Question Id : 5362284693 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

{23 79 SRS 99 @ F-Hmr 301-400 F v afaea § S aeanar Feienad 5 J FiE -0 7 7

(1) 182 (2 192
(3) 20.2 (4) 242
Options :

53622818281. 1
53622818282. 2
53622818283.3
53622818284. 4

Question Number : 147 Question Id : 5362284694 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

o T\ wE @ - 401-500 % U el sHEna et § ® he 3w 2 7

() 24 (2) 40
(3) 16 (4) 80
Options :

53622818285. 1
53622818286. 2
53622818287.3
53622818288. 4

Question Number : 148 Question Id : 5362284695 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



ToqU ATRET THE i F= Al Fefeiad 9 5 #8527

(1) 125 (2) 24
(3) 40 (4) 118
Options :

53622818289. 1
53622818290. 2
53622818291.3
53622818292. 4

Question Number : 149 Question Id : 5362284696 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) 125 (2) 40
(3) 4583 (4) 603
Options :

53622818293. 1
53622818294. 2
53622818295.3
53622818296. 4

Question Number : 150 Question Id : 5362284697 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) 483 (2) 126
(3) 400.5 (4) 441
Options :

53622818297. 1
53622818298. 2
53622818299. 3
53622818300. 4



